
������� �����	� 
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	�� ��� 
�	�� 
	����
��� ��

��	��

������ ������

��������

��� Mn �� � ������� ��	
���
 �� 

��	�
�	 n �
�� ���� T k����
�	�

�� ��	�

�� �������
	�� �� M �	 N = M/T k ���� ���� ��� ����
�	��

��������� �	
 

������ �� M ���
��� |K(M)| ≤ a �	
 diam(M) <
d� �	
 �
�� �������� �� �������
	�� ��� ��� k ���� ���� ��� ���� 	�	�

���� �
��	����� �� ������
�	 ���
	� �	 1������ �	
 2������ �� M ���

���	
�
 ����� �� c(M) · 
	�(M)2k� �������� �� ����� ���� ��� ����

	�	����� �
��	����� �� ������
�	 ���
	� �	 1������ �� ��� ��
	�
��� T k�

��	
�� M ���� N 
� ���	
�
 ����� �� c(n, a, d, N) · Vol(M)2 �	


c · 
	�(M)2k ���	 M ��������� �	 N �

������
�  �������
	�� 

!���	�
�� ������ ������
�	� ����� �
��	�������

�"#$%%%  &'(&%� &'#)%

� ���������	��

��	� (M,g) 
�� 
��	��� �	�����	���� �������� ������� ��	������� ��
�	����	�� n� �� ����	���� ���������
� ∆ = dδ + δd ��	����� �
� ��������
Ωp(M) ��� p������� �	������	����� �
� M � �� ������� �� ��� �������
� �����

� �������� �	����� �� ������� ���	�	�� �
 �
�� �
��� ������

0 = λp,0(M,g) < λp,1(M,g) ≤ λp,2(M,g) ≤ . . . ,

�� �� �
��	��	�	�� �� λp,0(M,g) ��� �� p�	��� ������ �� ����	 �� M  ��� �
����

���
�� ������� ����� ������� ��	� ! � �
��	��	�	���

�� ��	� �
�" �	������ ����� �� ��
�
�� �� #	��	 �	����� �� ����	��� 
��
��
� ������ ��� �
��� �
 ������	�� ��	����� �
� ��� �����	��� ��� 
�	���������
�	����� $%&�'() %�*'()+� �� ,����	� �� &� ,�
���	� ��� ������ ���� %,,-()
�
�	� ���� 
� ��� �� �.�� ��
� ��� ������ �	������	����� �� ����� �
������
�
�� �
�" �	������ �� ��
�
�� ����	������� ������ �� ��
� �
�	� ��� 
���
��
������� ���	���	������ ���	���� /� ��
� 	�� �������� �
� �� �0������� ��
���	��� 
���
�� ������� ��� �	� �
 ��	� �
� �� 
��	��� ��������� ������"��	��
�
� ��� 
��
�� 1 �
 �� ���	��� ��
	
������ ��� ��!�� ��	�2���	
	�� 1 ����

��� 3��� �� �
	 ����
	� " ����	����� �� �������� �
	
��� 4

�������� �	� ������� ����	�	 λp,1 �� 
������� �� 
�	��� ��	 �� ������	��
�� ���	
�	� �� �� 	���� �������������� ��������� ��	���� �� ��	���� �������	� �
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�� ,0��	��� �� 6� 7��
�� ������� ���� %,7-8) 
�� �	�����	�� ��������
�
	 �� �������� ��!�����	�
����� ����� injrad(M,g)4n2+8n−2 �
��� ��
��!�� ��	�2���	
	�� ���� 
��� 3��� ��	� �
	 ����� � �	��	� ��� ���	����� /���
%,,(() �� ,����	� �� &� ,�
���	� ��
�	��� �� ��� ����	�
�	�� ��� 9���� ��
������� ����������� �
� ��
� ���� �� �������� 1 ����� �
���� �0���� 1 �
�
��� ���	��� 
���
�� ������� ���� ����� �� ������� �
 ��!�� ��	�2���	
	�� �
 ������
:�� �	���
�� ��
� ��� �	�
��	��� �� �	�	��� ��	����	�
�� �
� ��� ��
	��������
$������"��	�� �����
� �� ����	�
� �����	� ��
� �� ����� g = gH ⊕ ε2gV �� gV


�� ����	�
� �
� ��� ������� �������� V �
� ��
	���� gH 
�� ����	�
� �
�

�� �	���	�
�	�� �����������	�� " V + �� ��	� $%6�-;) %��<(()+ �
��� ��
�
����
��� ��
� ��
� ���	�� k �� ������ �� ���	��� 
���
�� ������� �� ������� ��
ε2k " ���	�� ��
�� �
	�� ��������� ��	� ����� ���0��� ��� ��� ����� �	�
 "
���������� ����	�	����

= ����� �����	������ �� � ������ ��0	�� " �� 2�
� �
�
� ������� ��
���	�� 
���
� ������ ������� ��
� 
	�� �
� �� 
��
�� �
 �� ��!�� ��	�2���	
	��
�
 ����� �
��� �� 
��	��� ��������� �� �
	 ����
	� " ������
��� �� �
���	��
5�5 4

�������� �	
 ������� �
����	 ��� ����	����� �� λp,1(M,g) �������������
���� �� ���	�	� �� injrad(M,g)2 �� Vol(M,g)2 ����� �� ��	���� �������	� �

�� �
� �� ����� ���
�	� ��� �� ������ ��� �������� �� �������� " �� �
���
�	�� 5�> �� ��
�	��� �� ������� ��� 9���� ��	��	��
� �� ����� ����������� �
�
��
� ����� ?�
� ������ ������� ��
� ���
������ �� ����	�� ������� 
�� ���
����� �����	
� " �� �
���	�� 5�> �� �� �
	 �������� �� ��!�� ��	�2���	
	�� 4 �
��
��� ������������ �	��� �0�	�	� �� �� ��	���� ����� " ��� ���	��� ��������	�
���	��� �	��0���	����� �� ��
� ������
	�� ��
� ��
� k ∈ N

∗ ��� 
���
��
������� �����	����� ��
� 
	�� �
� injrad(M,g)2k � :�
� ����	������ 4

��
����� �	� ���	 ���� �����	 k ≥ 1 �� ���	 ����� ��	���� (N,h) ����� ���
b2(N) ≥ k� �� ������ �� �
	� �	������� M �� ��	� T k ��	 N � ��� 
������ ��
���	���� (gε)ε∈]0,1] ��	 M � �� ��� 	���� ��	�������� ������
� C(k, (N,h)) ��
ε0(k, (N,h)) ���� ��� �� ���	
�	� �� �� ������	� �� (M,gε) ������ ���
�	���
���� 
�	��� ��	 	����	� � ε� Vol(M,gε) = ε ���	 ���� ε� ��

λp,1(M,gε) ≤ C · injrad2k(M,gε) $5�@+

���	 p = 1 �� �� �� ���	 ���� ε < ε0 
!� ����� �� b1(N) > b2(M)� �� � ����� ���	 p = 2 �� "

λp,b1(N)−b2(M)(M,gε) ≤ C · injrad2k(M,gε) $5�;+

�������� �	� �� �0������ 5�A ������ �
��� �� ��
� ��� �	����� �� ��
����	��� 
���
� ������ �
 ������	�� ��� 
�� �
	������ �� ��!�� ��	�2���	
	��
	����������� �� �� �	����	��� :�
� ����	������ ����� �� ��
� ������
	��
��� 
��	���� �� �	����	�� A ���� �� >� ������ �� ����	 ��� ���	���	������

>



����� 	� ��	��� ��
� ��
� n ≥ 4 ��� 
��	���� �� �	����	�� n 
��	9��� $5�@+
�
�� k = n− 3� �� �� ��
� ���� ��� ������� �����	� �� �	�����	�� ��������
��� �� ��!�� ��	�2���	
	�� �
�� 
� �������� 	����	�
� " 2n − 6 �	 n ≥ 4�

�������� �	� �� 
���� ���� �� ����	�� ; �
�	� ��	��� �����	
����� ���
9���� 
��	9��� �� ����	�	�� b1(N) > b2(M)�

B� ���	�� �	����	�� �� ��
� �� ���
	�� 
� ���
���� ��
� ��� ������ ��
��
� ����� 4

���������� �	� ���	 n = 5 �� 7� �� ������ �� �
	� M �� ��	�� T 2 ��	 ���
��	���� �� ��������� n−2� ��� ����� �� ���	���� (gε) ��	 M �� ��� ���������
C > 0 ������ ��� �� ����� (gε) �����	� �� �
	� M ��	 �� 
��� � ���	
�	� ��
������	� 
�	��� ����� ε ���� ��	� #�	�� �� ���

λp,1(M,gε) ≤ C · injrad4(M,gε) $5�-+

���	 1 ≤ p ≤ n − 1 

�� ������ �0������ ����� ���� �� ��� ��� 1������� ��� �	�����	��� �

������� �� �����	�� �
 
��
�� �� �
 ��!�� ��	�2���	
	�� 4

��
����� �	�� $��� ���� 	���� a �� d ��	�������� ������
�� �� �����	 n ≥ 3
�� (N,h) ��� ��	���� 	����������� �� ��������� ��	�������� ��
�	���	� �
n %� ������ ��� ���������� ε0(n, a, d, (N,h)) > 0� C(n, a, d, (N,h)) > 0 ��
C ′(n, a, d, (N,h)) > 0 ������ ��� �� (M,g) ��� ��� ��	���� 	����������� ��
��������� n ��	����� diam(M,g) ≤ d� |K(M,g)| ≤ a �� �� π : (M,g) →
(N,h) ��� ��� �
	����� �	�������� �� �
	� T k ��� ���� ��� ε����	���������
�� &�����	� ���� ε < ε0� ���	�

λ1,1(M,g) ≥ C · Vol2(M,g) ≥ C ′ · injrad2k(M,g). $5�55+

�������� �	�
 ���������� �
 
��
�� ���� �� �	�����	�� $5�55+ ��� ���	�
���� �� ��
� ��� ������� ����	����� �� ��� �� ����
	� �	�����	�� ��
� 9���
�� ������ �
	 ��������� ��� 
� ���� ���� �� ����	�
� ��� 9��� ��	� ���� ��
�	������ ��� �
C������� ���	� ��
� �
� �� 9��� ����
	� ��	� ����0� �� ��
���� ��
� �� �	������ �� &����
�D�
����� ��� ���
����� �� %,,(() ���
����
�
� ���� �� ��� λ1,1(M) �� ��
� ��� �����E��� ��
� ��������� �
� Vol2(M)�
��	�����	�� $5�@+ ���
�� ��� �	���
�� �
� ���������� �
 ��!�� ��	�2���	
	�� ����
$5�55+ ��� �
	 �
��	 ���	����

�������� �	�� �� ��	� ��2" �
� �	 �� 9��� ��� �� �	����	�� �
���	�
�� �

����� " ��
� �� �� ��
� ��� �����	� ��
� ��� 9���� �� ����� �� ��2����	�� ��
λ1,1(M) ��� �� 
��
�� �
 ����� ����� ����� �� ��� ��
� ��� 9���� �� ��������
B� ���� �� ��
� ������
	�� ��� �������� ������������� �� 9���� ��	��	��
�
�� ����� ��
� ����
��� �� ����	��� 
���
� ������ �
 ������	�� �� ���� ��� 
���
3��� $��� %F�(A) �0������ 5�5A �� ��������0� @�>+�

�� �0������ 5�5( ��
��
� ��� ��
� �
���	��� �
	
����� �
	 ������� �
�

����� 4
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�������� �	�� ������� '���	�����	 ��� 	�������� ��� p�
�	��� ����	���
�������� ���	 ���� p �

�������� �	�� (� ����	����� �� �����	� ��	 �� ������ �� ��		� �� �� ��	����
�� '���	������������ � �����	�� 
������� �� ��	����� �

:�
� ��������� ��� �0������� 5�A �� 5�5( ��
� ������������ ��� ���	�
����	��� ����	�	��	��� �
� �� �������	� �� �������	� �� �� ������� ��� 9����
��	��	��
� �� ������

/��� �� ����	�� > ��
� ��9�	���� 
� 	�
��	��� �������	�
� �������	����
�� ������ ��B
��� ��� 9���� �� ������ �� �
	 ��
��� .��� 
�	�	�� ��
� �����G���
�� ��������

�� ����	�� A ���� ��������� " ����
�� �� �� �������	� ��� 9���� ��	��	�
��
� �� ������ �� ���
���� ��	��	��� ��� �
� ��
� ��������� �� �0������ 5�5(
�� ��
� �� ������� " 
�� �	�
��	�� �������	�
� �	����� B� ����	�
�	�� ��
�������� �
�
�� ����	�
� �� ��
��
�� �� �	������ ������ �
� �� 9��� ���
����0� ��
�� ����	�
� 	�
��	���� ��
� ���
���� ��� 9���� ���� ����������
������	�
�� 4

��
����� �	�� $����� a �� d ���� 	���� ��	�������� ������
�� n �� �����	
�� (N,h) ��� ��	���� 	����������� �� ��������� ��	�������� ��
�	���	� �
n %� ������ ��� ���������� ε0(n, a, d, (N,h)) > 0� τ(n, a, d, (N,h)) > 0 ��
τ ′(n, a, d, (N,h)) > 0 ������ ��� �� (M,g) ��� ��� ��	���� 	����������� ��
��������� n ��	����� |K(M,g)| ≤ a� diam(M,g) ≤ d �� �� π : (M,g) →
(N,h) ��� �
	����� �	�������� �� �
	� T k ��� ���� ��� ε����	��������� ��
&�����	� ���� ε < ε0� ���	� �� ������ ��� ���	����� g̃ �� h̃ ��	 M �� N
	������������� �� ��� �
	����� �	�������� π′ : (M, g̃) → (N, h̃) ������ ���

) (������� �� T k ��	 (M, g̃) ��� ������	���� *

� (�� �
	�� �� �� �
	����� π′ ���� ���������� '���������� *

" 
1
τ
g ≤ g̃ ≤ τg ��

1
τ
h ≤ h̃ ≤ τh *

+ (� 	���	������ �� g̃ � �� �
	� ��� ����� ��� diam(π′−1(x)) ≤ τ ′ε� ���	
���� x ∈ N  

�������� �	�� �� 
���� �
��	 �
� �	 ���� �
����� �
� �� ����	�
� g �
� M
��� T k�	�
��	���� ����� �� ��
� ��������� ���� �� �0������ 5�5H ��0!���0���
�
� �� ��
��
�� �� (M,g) ��� ��0!���0��� ��
� ��	��� K(M,g) ≥ −a�

/��� �� ����	�� @ ��
� ��
�	����� ������� ���� �� ��� ��
� 9��� ��	��	�
��� �� ���� T k �
�	 ��
�� ����	�
� 	�
��	���� �� ��
� �� ������� " ����
��
��� ���	��� 
���
�� ������� �
 ������	�� " ����� �
 ������� �
 ������	�� ����
��	�� �
� ������ �	������	����� 	�
��	����� ��� �����	�� �� T k 4

��
����� �	�� $��� k ∈ N
∗� T k ↪→ M

π→ N �� �
	� �� ��	� T k� ḡ ���
���	���� ����	����� ��	 T k �� f ��� 
������� ��	 N ��	�������� �������� 

@



$�������� ��� M ��� ���� ����� ���	���� T k�����	����� g ����� ��� ���	
���� x ∈ N � �� 	���	������ ḡx �� g � �� �
	� π−1(x) ��	��� ḡx ≤ f(x) · ḡ 

$��� λ ��� �����	 �	��	� �� ��������� �'������ ��	 ��� 
�	��� ����	���
������� �� M  $� λ < (sup

x∈N
f(x))−1 · λ0,1(T k, ḡ)� ���	� ��� 
�	��� �	��	�� ���

������� ���� T k�����	������ 

�������� �	�� �� ��
� ������� �
� ����� ���	���	�� ��� ���	���� 4 �	
�� ����	���� 
� 9��� ��	
	�� �
�	 ��
�� ����	�
� ����
	� �� 
�	� �
� ���
������ ������� �� T k �� 
���
� ������ λ0,1(T k, ḡ) 	��
	���� �
� �� 9��� ���
������ ������� �� �.�� 
���
� ������ �
	 �� ���� ��� 	�
��	������

�������� �	
� /��� �� ��� ��� 9���� �� ������ $
�	� �0������ @�55+ 
�� �0������ 5�5' ����	��� ����	������� 
� ���
���� ��������� �����
 ���
�� ,����	� �� &� ,�
���	� $%,,(() �0������ A�@+ �� �
	 ������	��	� ��� 0!�
���0���� �� ��
��
�� �� �	������ �������

�������� �	
� �� ����������	�� ��� ��
� �0������� ��� �� �
	����� ��
��	� �
� �	 �� �
��	��	�	�� ��
�� 
���
� ������ ��� 	���	�� ����� �� ��
��������
������ �����	� ����	��� ��� ������ 	�
��	������

��� ��
� ����	���� ����	��� ������ ���������� �
� ����������	��� ���
�0������� 5�A �� 5�5(� /��� �� ����	�� ; ��
� ������
	���� ��� ��������
�������������� �������� ���� �� �0������ 5�A�

B�9� ���� �� ����	�� H ��
� ������������ ��	�����	�� $5�55+ �
 �0������
5�5( �� 
�	�	���� ��� ���
����� ��� ����	��� ����������� �� ��
� �	��
������ ��
�� ����	�	�	�� ������	��� ��� ���������� C �� C ′ �
 �0������ 5�5( �� �����	��
��	�
��	���� �������	�
�� �� (N,h)�


 ����
��	� ��� ����� ��	��	���� �� ����

?�
� ������ ���� ����� ����	� ��
� �����0�� " ����	�� �� �������	� ���
9���� ��	��	��
� �� ���� �� �� ����	�
�	�� " ������
	�� 
� 	�
��	��� �	������
�	�� �
	 ��������� ����� �� ������ ��B
��� ���� �� ��� ��� 9���� �� ������� 
����
�	�� �� ������������ �
 ������� �
 ������	�� ���� ��
� ������������

��	� M 
� 9��� ��	��	��� �� ���� T k �
� 
�� ���� N � �� ���� T k = R
k/Z

k

��
� �����	�� ����� �� ����
	� �� k ������� 4 T k =
∏k

i=1 S1
(i)� �����	�� �� T k

�
� M 	��
	� 
�� ���	�� �� �0��
� ��� S1
(i)� �� ��
� ���� ��9�	� ��� 
��	����

Mi = M/
∏
j �=i

S1
(j), $>�5+

�0��
� Mi ����� 
� 9��� �� ������ �� ���� N �
� ���
�� ��	� S1
(i)� #��	����
��

���� �� ������ ��� k 9���� �� ������� (Mi)i≤k �
� N ������ �� ������
	��

� 9��� �� ���� T k �� ������� �� ����� �� I0	���!

⊕k
i=1 Mi �� ��� 9����

�� ������� �� 9��� �� ���� ����� �	�������0� �
 9��� M � ,���� �� ���
��
�
�� ��
� 9��� �� ������ ��� ������	�� ��� �� ������ ��B
��� �� �������	� ��

;



M ��� ������	��� ��� �� ������ ��
� k�
���� (e1, · · · , ek) ∈ (H2(N, Z))k ��
������� ��B
���� ,�������� �� ��������	�	�� �� T k �� ����
	� �� �������
����� ��� 
�	�
�� B� ���� ��
� �0��
� ���� (a1, · · · , ak) �
 �����
 Z

k ��
��
� ���	�� T k ����� �� ����
	� �� �� ���	��� �� ������� (Rai/Zai)i �
�
��
���������� �� ������� 
� k�
���� �	������ �� ������� ��B
����

/��� �� ��� ��
� 9��� �� ������ �� ������ ��B
��� [e] �� � �� �����	���
�
	
���� $%�7'>) ��8>+ 4 �	 ω ��� �� 1������ �� �����	�� �
 9��� ����� dω
��� 
�� 2������ 0��	3������ �
	 ������ �
 �0�	� �� �� ������	�� �
� �� 9��� 
��	� �
	 ��� �
 �	��� ���� �� ����
� ��
�� ������� �� [e]� /��� �� ��� ��
�
9��� �� ���� �� 
� ������
	�� 
�� 	�
��	��� �
	 �������	�� ����� �����	����

/��� �� ��� ��
� 9��� ��	��	��� �
������
� �� ����� �� ������	�� ��� 
��
1������ 
���	���� " 
���
� ���� ��������� �� �	� G �� �� 9���� �	 �� �� �����

� ������� ω̄ �� G∗ �� �
��� �����	�
� ω̄ " ��	���� �� �� ����� �� ������	�� 
�� ���	��� 
�� 1������ 
���	���� " 
���
� ������� �� �	�� �
� ����� �����
�	������	���� ��� J 	��
	�� K ��� ω̄� /� �� �.�� ���	��� �� ����� �� L�
����
,����� ��9�	����� 
� 	������0	��� ����� �0��
� ������ ������� 
���	��� ��
G �0��
� ������� �� G J 	��
	� K 
� �0��� �� 
�����
� 
���	��� �
� �� 9���

	� ��� 	������0	���� ?����� �
� �� �0��� ��� ��9�	 	������������� ��
�� ������	�� ������	������ �
� ������ 	��
	��� ��� ��� �������� �� G∗�

�� 
� ������� �� ���
���� �
	
��� �
	 ������ �� ��9�	� 
�� �������	���	��
�� �� ������ ��B
��� �
� 9��� ��	��	��
� �� ���� 4

����������� 
	
 $��� ω̄ ∈ G∗� ω �� 1�
�	�� ����	�������� ��	 M �������
��	 ω̄ �� αω �� 2�
�	�� ����	�������� ��	 N ����� ��� dω = π∗(αω) ,��	�
������������� e : G∗ → H2(N, R) ������ ��	 ω̄ �→ [αω] ��� 
��� ������ -� ���
� ��� �� ������ �� ��.�����'�� �� αω �� ������ ��� �� �.��� �� �� ���������/
�� ������	� 

 
����������� ! �� ���� T k = R
k/Z

k �� �� ���� (ω̄i)i∈[1,k] ��� ������
����������� �� R

k ������� �
 �
��	��� �
� T k� B� 
�	�	���� �� ��������	�	��
T k =

∏k
i=1 S1

(i) �� ��9�	� �� ���	��� �� 9���� �� ������ (Mi) ����� �� $>�5+�

�� � ����� ��� ���2���	��� M
πi→ Mi

π′
i→ N �
	 
��	9��� π′

i ◦ πi = π′
j ◦ πj = π�

,0��
� ����� ωi 	��
	�� �
� M ��� ω̄i ��� �� ����
� π∗
i (ω

′
i) �� �� ����� ��

������	�� �
 9��� �� ������ Mi� �� ��
� ���	�� dωi = π∗
i (dω′

i) = π∗(ei) ��
ei ��� 
�� 2������ �
� N � �� �� ��	� �
� ei ������	��� " �� ������ ��B
��� �

9��� Mi 	������������� �
 �0�	� �� �� ������	�� �
� Mi ���� �
 �0�	�
�� �� ������	�� �
� M � �	 �� ��9�	� e : G∗ → H2(N, R) ��� e(ω̄i) = ei

�� ���������� ��� �	����	�� �� �
�� �	�� ��� �	����	�� �� �� �	������	����
�����	�
�� dω = π∗(e(ω̄)) ��
� ��
� ω̄ ∈ G∗ �� ������ ω �� ����� 	��
	��
�
� M �
�������� 
	� �	 k = 1 �� �	 ω̄ ��� �� ����� 
��
�� �
 ������ �� ����
�
�
1 ����� e(ω̄) ��� �� ������ ��B
��� �
 9����

�������� 
	� �� ����������	�� >�> ��� �� �
	����� �� �	�� ����� ��	��

��	��� e �� �� ���	��� �� ������ ��B
��� �����	�� " 
�� ��������	�	�� ����	�

H
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�	��� �� ����� �� I0	���! �� M 4 " �0��
� ��������	�	�� ����	��� ���
�����	�� 
�� ���� �� G∗ �� �� ���	��� �� ������ ��B
��� ��� ��	���� �� �����
���� ��� e�

"#����� 
	� �� �0������ 5�5A �� %F�(A) ������ 1 ����� �
���� �0���� 1
�
�
� 9��� ��	��	��� �� ���� T k ��� ��	
	�� ���� �� ���� ��� 
� ���� T 2 ��
�
�����	�� ����� ����
	� ��
�� �	�
��	��� �� �	����	�� A �� ��
� ���� T k−1�
,���� H2(T 2) ��� �� �	����	�� 1 �� ��!�
 �� e ��� �� �	����	�� k − 1 
�� �
	 �	��	9� �
��� ��
� ���������� �� 9��� �� 
�� ����� �� I0	���! ��
k 9���� �� ������� ���� k − 1 ���� ��	
	�
�� �� �����

� ���� �� ��	� �
� ��
9��� ��
� �����	�� ����� �� ����
	� ��
� 9��� �� ������ �
� T 2 �� ��
� ����
�� �	����	�� k − 1�

/��� �� �
	�� �	 ω ��� 
�� ����� 	��
	�� ��� 
� ������� ω̄ �� G∗ �� ���	��
�����	� ��� ��
� �� ������� J e(ω) K �
 �	�
 �� J e(ω̄) K� /� ��
� 
���� �����	�
e ����� 
�� ����	���	�� �� G∗ ���� �������� H2(N,h) ��� 2������� 0�����
�	�
�� �� N  �� 
�	�	���� �� ��	� �
� H2(N,h) ��� �����	�
����� 	������0�
" H2(N, R)�

� �������	� ��� ����� ��	��	���� �� ����

��� ������	
� �
����
�

?�
� ������ 	�	 ������� �
��� ��
� ���� �� �
� �������	� �� �0������
5�5( �� ������� " 
�� �	�
��	�� �������	�
� ��
� ���
���� ����
�� �
 �������
��
� 9��� �� ���� ��� ��
� �	����� ,���� �	�
��	�� ��� 
�� �������	���	�� ��
�� ���	�� �� ����	�
� ������� ��9�	� ���� �� ��� ��� 9���� �� ������ ���
�� ,����	� �� &� ,�
���	� $%,,(()+ 4

 
$������ �	� 0� ��� ��� �� ������ �� ���	����� (g, h) ������� ��	 M ��
N 	������������� ��� ������ � �� �
	����� �	�������� T k ↪→ Mn π→ N �� 1

� (� �
	����� π : (M,g) → (N,h) ��� ��� ��
��	���� 	����������� *

�� (������� �� T k ��	 M ��� ������	���� *

��� (�� �
	�� ���� ���������� '���������� *

�� 2���� 1�
�	�� ��	������ ω ������� ��	 �� ������� �� G∗ ��	��� dω =
π∗(e(ω)) 

�� 
�
� ������� �
�
�� ����	�
� �� ��
��
�� ������ �
� 
� 9��� ��	��
�	��� �� ���� ��� ����0� ��
�� ����	�
� ������� 4

��
����� �	
 $����� a �� d ���� 	���� ��	�������� ������
�� �� T k ↪→
(Mn, g) π→ (N,h) �� �
	� �	������� �� ��	� %� ������ ��� ����������
ε0(n, a, d, (N,h)) > 0� τ(n, a, d, (N,h)) > 0� τ ′(n, a, d, (N,h)) > 0 ��
c(n, a, d, (N,h)) > 0 ������ ��� �� |K(N,h)| ≤ a� |K(M,g)| ≤ a�
diam(M,g) ≤ d �� �� π ��� ��� ε����	��������� �� &�����	� ���� ε < ε0�

8



���	� �� ������ ��� ���	����� g̃ �� h̃ ��	 M �� N 	������������� �� ��� �
	�����
π′ : (M, g̃) → (N, h̃) ������ ���

) (� ������ (g̃, h̃) ��� ������ � �� �
	����� π′ *

� 
1
τ
g ≤ g̃ ≤ τg ��

1
τ
h ≤ h̃ ≤ τh *

" (� 	���	������ �� g̃ � �� �
	� ��� ����� ��� diam(π′−1(x)) ≤ τ ′ε� ���	
���� x ∈ N *

+ (� ���	
�	� ������������ �� (M, g̃) ��	��� |K(X,Y )| ≤ c� ���	 �����
���	� �� ������	� .�	�#������ �	�.���	��� (X,Y ) 

�� ��
��� ����� ����	�
�� �� ���
���� �� F� /��3	
M ����� ���
�� �	 ��
� ���
��	�
�� ���� ����0�� ����� ��� �������� �
 ������	�� ��
� ��� ��
� ����	�
��
���� ����0�� �
��	 4

��
����� �	� %& ��
'( $��� g �� g̃ ���� ���	����� 	������������ ��	 ���
��	���� M �� ��������� n� �� τ ��� ��������� �������� $� ��� ���� ���	�����
��	����� 1

τ g ≤ g̃ ≤ τg� ���	�

1
τn+2p+1

λp,k(M,g) ≤ λp,k(M, g̃) ≤ τn+2p+1λp,k(M,g),

���	 ���� �����	� k ≥ 0 �� p ∈ [0, n] 

�������� �	� �� �0������ A�> 	���	�
� �� ����	�
�	�� �� �0������ 5�5H�
�� �����	��	�� �
� �� �������	� 	������ ��� �� ��	�� @ �� �� �����
�	�� �

�0������ A�> ������ �� �	�
� �����G��� �� ������� �
 ������	�� �� ���� 
�	��
���� �� ����������	�� �
 �0������ 5�5(�

�������� �	� B� 
���
 ��
� �0������ �� D������ $%D�H() %��'8) �� >@-+ 
�� ��	� �
� ��� 9���� ��	��� ���������� ������	�
�� 	���	�
� �
������ ����
	������	�
�� ����� ������ �� 
� 
�	� ���� �� ����������	�� �
 �0������ A�>
�
� ���	����
����� �
� ��� 9���� ����	����� �	 �� ����	�
� ��� 	�
��	���� ��
�
� ��� 9���� ���� 	������	�
�� ����� ����� ���� ���������� ������	�
���

��� ���	����� 

 ������	
 ���������


?�
� ������ ���� 
� ����	�� ����� ������� �
� �	 �� �
����� �
��� �
�
� M 
�� ����	�
� 	�
��	���� ���� ��� ����0� ��
�� ����	�
� �
	 
��	9� ���
��	��� $�+ " $���+ �� �� ��9�	�	�� A�5� :�
� ����	������ 4

����������� �	� $��� T k ↪→ (Mn, g) π→ (N,h) �� �
	� �	������� �� ��	�
���� ����� ���	���� ����	����� g ��� ��� π ���� ��� ��
��	���� 	������
������ ���	 ���� a > 0 �� d > 0� �� ������ ��� ���������� τ(n, a, d) > 0 ��
c(n, a) > 0 ������ ��� �� |K(N,h)| ≤ a� K(M,g) ≥ −a �� diam(M,g) ≤ d�
���	� �� ������ ��� ���	���� ����	����� g̃ ��	 M ����� ��� �� �
	����� π :

'



(M, g̃) → (N,h) ���� ��� ��
��	���� 	����������� � �
	�� ���������� '���
�������� ��

1
τ
g ≤ g̃ ≤ τg.

�������� �	� �� ��
� ����� �
��� 
�	�	�� ��� ��� 
�� 0!���0��� �� ��
��
�
�� ������ �
� M ��	� ��
������ �
� �� ��
��
�� ����	������� ��� �	������

:�
� ������� �� ������	�	�� A�H �� 
�	�	���� ��� ��
� ������ �
	
�����
�� ����	�� ��� 
�� ����	���	�� �	����� �� �� ����
�� �� ��?�	�� 4

)���� �	� $��� a > 0 �� T k ↪→ (Mn, g) π→ (N,h) �� �
	� �	������� ��
��	� ���� ����� ���	���� ����	����� g ��� ��� p ���� ��� ��
��	���� 	���
���������� |K(N,h)| ≤ a� �� K(M,g)(X,Y ) ≥ −a ���	 ���� ������ (X,Y )
�� ������	� .�	�#������ �	�.���	��� ,��	�� ���	 ����� 1�
�	�� ����	��������
��	������ ω ������� ��	 �������� �� T k� �� � 1

) |dω(X,Y )|2x ≤ 8a
3
|ω|2x� ���	 ���� x ∈ M �� ���� ������ �� ������	�

.�	�#������ �	�.���	��� X �� Y *

� ‖dω‖∞ ≤ 4an(n − 1)
3

‖ω‖∞ 

 
����������� ! ��	� x ∈ M  y = π(x) X̃ �� Ỹ ��
� �0���� �� N
���0������� �� y �� X �� Y ��� ����
�� �� X̃ �� Ỹ " M � �� ����
�� ��
��?�	�� $%&D�'8) �� 5>8 %��'8) �� >@5+ �����

KN (X̃, Ỹ ) = KM (X,Y ) +
3
4

∣∣[X,Y ]V
∣∣2 , $A�-+

�� [X,Y ]V ���	��� �� ���������� 
���	���� �� [X,Y ]� /��
��� ���� �� � ��

�	�	���� �� ��	� �
� ω ��� 
���	���� 

dω(X,Y ) = X · ω(Y ) − Y · ω(X) − ω([X,Y ])
= −ω([X,Y ]). $A�5(+

�� �� ���
	� 4

|dω(X,Y )|2x = |ω([X,Y ])|2x ≤ |ω|2x|[X,Y ]V |2x
≤ 4

3
|ω|2x(Ky(X̃, Ỹ ) − Kx(X,Y )). $A�55+

,���� �0��
� ��� ��
���� (X̃, Ỹ ) �� (X,Y ) ��� ���0������ �� x �� y �� �
��� ��2����	��� |Ky(X̃, Ỹ )| ≤ a �� Kx(X,Y ) ≥ −a �� ����

|dω(X,Y )|2x ≤ 8a
3
|ω|2x. $A�5>+

B� ����� ��	�����	�� ���������� ��� 
��	� �
�� �
� ��	� �� �0�	� �� (X̃, Ỹ ) 	�
�� ����
�� 9��������

|dω|2x ≤ 4an(n − 1)
3

|ω|2x ≤ 4an(n − 1)
3

‖ω‖2, $A�5A+

-



�� �
	 ��0�
� �� ����������	���
�� ������ ����� ������ ���� �� ��� ��
� 9��� �� ������ �
�" ��
��
��

������ �� ����
�
� ��� 9���� 
��	� ��
 ��
�� 9��� " ���
����

)���� �	�� $��� S1 ↪→ (Mn, g) π→ (N,h) �� �
	� �	������� �� ��	��� ��	
N � ��� ��� g ���� ����	����� �� π ���� ��� ��
��	���� 	����������� ���	
���� a > 0 �� d > 0� �� ������ τ(n, a, d) > 0 ��� ��� �� |K(N,h)| ≤ a�
K(M,g) ≥ −a �� diam(M,g) ≤ d� ���	� ���	 ���� x, y ∈ N � �� �

1
τ
ly ≤ lx ≤ τ ly,

�3 lx �� ly ����'���� ��� ���'���	� ��� �
	�� �� ������ �� π−1(x) �� π−1(y)
	������������� 

 
����������� ! �� �0�	�	� �
� �� 9��� M 
�� 1������ 
���	���� ω ����
��	�������� �
� �0��
� 9��� ��� ����� " 1� ��	� U �� �0��� 
���	��� 	��
	� ���
�����	�� �� S1 �
	 
��	9� ω(U) = 1� �� ����� |U | �� �� �0��� ��� ���������
�
� �0��
� 9��� �� �����	� |U | = π∗f  �� f ��� 
�� �����	�� �
� N � /� ��
� 
�� ��
� ��	�� x �� N  �� ����� f(x) �� U ��� ����� " �� ����
�
� �� ��
9��� �
 ����
� �� x� �� 
� ������� �
� f ��� ������ �� �����	�� �� a ��
d� #�����
� 4 ω ����� ��� �� ����� �
��� �� U ��
� �� ����	�
�� �� �����
�����
���� �
� �� 9��� π−1(x) ��� |ω| = 1

f  �� �� � U � = f2ω�

��	� x ∈ N  �� X̃ 
� 
����
� 
�	��	�� ������� " N �� x� ��	� X̃i 
�� ����
���0������� �� �0���� �� 
����
�� �
 
�	�	���� �� x ����� �
� DX̃1

X̃1 = 0
�
� �� 
�	�	���� �� X̃1|x = X̃ � �� ����
� ����� ���� " THM �� ������

Xi = π∗(X̃i) �� X = X1� ,�� �0���� 
��	9���

[Xi, U ] = 0. $A�5;+

B� ���� ��� ����0��� �� �	� ���� ������	��� ��� [Xi, U ] = d
dt(Φt)∗Xi �� Φt

��� �� N�� 	��
	� ��� �� �0��� U � :�� ��9�	�	�� �� U  �� N�� ���������� "
�����	�� �� S1 �
� M � ��� ����0��� �� �	� ���� ���� �
�� ��� ��� �0���� Xi

���� S1�	�
��	����� �� ������ ��� �	���
�� U ′ �� �0��� �� ����� 1 ��9�	 ���
U ′ = U/|U |�

�� 
� ����
��� �� ��
��
�� ����	������� K(X,U) �� �����	�� �� f �� ��
��� 
��	��	��� $#�����
� 4 �� �0��� U ����� ��� ����� ��	� �� ����
� ���
��
� �	���� �
� �	 �� 
�	�	�� �� �0��� U ′+� ,���� ��
��
�� �����	�

K(X,U) = 〈R(X,U)X,U〉
= 〈DU DX X − DX DU X − D[X,U ] X,U〉, $A�5H+

�� 〈·, ·〉 ���	��� �� ����	�
�� �� 
����
� DX X ��� 0��	3����� �� 
�
�
π∗(DX̃1

X̃1) $
�	� %��'8) �� >A-+ �� ��� ������
��� DX X = 0 �
 
�	�	����
�� x� ,���� ���
��� ���� [X,U ] = 0 �� ��� ������ " ����
���

K(X,U) = −〈DX DU X,U〉. $A�58+

5(



:�
� �� ��	�� �� 
�	�	���� �� ����
�� �
	
���� �
	 ��������	�� �� ������	��
�� ��
	�,	
	�� 4

2〈DZ1 Z2, Z3〉 = Z1 · 〈Z2, Z3〉 + Z2 · 〈Z3, Z1〉 − Z3 · 〈Z1, Z2〉
+〈[Z1, Z2], Z3〉 − 〈[Z1, Z3], Z2〉 − 〈[Z2, Z3], Z1〉. $A�5'+

B� 
�	�	���� �����0������	�� �� (X1, · · · ,Xn, U) �� �� ��	� �
� [Xi, U ]O( ��
���	���

2〈DU X,U〉 = X · 〈U,U〉 = X · f2 = 2fdf(X) $A�5-+

��
2〈DU X,Xi〉 = −〈[X,Xi], U〉, $A�>(+

�� ����

DU X = df(X)U ′ − 1
2

n∑
i=1

〈[X,Xi], U〉Xi. $A�>5+

�� ����	�� ����� ��
� �����	�� df(X)U ′ = df(X)
f U  ��� ������
���

DX(df(X)U ′) =
(

X · df(X)
f

)
U +

df(X)
f

DX U

=
(

(DX df)(X)
f

+
df(DX X)

f
− (df(X))2

f2

)
U

+
df(X)

f
DX U $A�>>+

=
Hess f(X,X)

f
U − (df(X))2

f2
U +

df(X)
f

DX U,

�� 
�	�	���� �� ��	� �
� DX X = 0� /� ��
� �� �����	�� $A�5'+ �����

2〈DX U,U〉 = X · |U |2 = 2fdf(X),

�� ����
〈DX(df(X)U ′), U〉 = f Hess f(X,X). $A�>A+

�� ���	
��	�� ��� ������ �
	
���� �� $A�>5+ �����

DX(〈[X,Xi], U〉Xi) = (X · 〈[X,Xi], U〉)Xi + 〈[X,Xi], U〉DX Xi. $A�>@+

P
��� �� ����
�� �� ����
	� �����	�� �� ����� �������	�� �
�� U  �� ����	��
����� �����
�� �� ����� �� �����	�� $A�5'+ ����� 〈DX Xi, U〉 = 〈[X,Xi], U〉 
	� �����

〈DX(〈[X,Xi], U〉Xi), U〉 = 〈[X,Xi], U〉2. $A�>;+

�� ����� ��� ��
��	��� $A�>A+ �� $A�>;+ �����

K(X,U) = −f Hess f(X,X) +
1
2

n∑
i=1

〈[X,Xi], U〉2. $A�>H+

55



B� ������	���� �� 
����
� U  �� ���	���

K(X,U ′) = −Hess f(X,X)
f

+
1

2f2

n∑
i=1

〈[X,Xi], U〉2. $A�>8+

��� ����	��� ������ ��

��� .��� ��2���� �� �����	�� �� �� ��
��
��� B�
���� �� �

〈[X,Xi], U〉 = U �([X,Xi]) = f2ω([X,Xi]) = −f2dω(X,Xi), $A�>'+

�� ���� �� 
���
 �
 ����� A�' 

〈[X,Xi], U〉2 ≤ f48a
3
|ω|2 =

8a
3

f2. $A�>-+

:�� 0!���0��� �� ��
��
�� ����	������� �� M ��� �	����� ��� −a� �� � ����
9�������� 4

Hess f(X,X)
f

≤
(

4n
3

+ 1
)

a. $A�A(+

��	��� x �� y ��
� ��	��� �� N  �� γ 
�� ������	�
� �	�	�	����� 2�	�����
��� ��
� ��	���� ?����� µ �� �����	�� ��9�	� ���

µ(t) = ln f ◦ γ(t). $A�A5+

B� ���	
��� µ ��� ������� " t �� ���	��� 4

µ′(t) =
df(γ′(t))
f ◦ γ(t)

$A�A>+

��

µ′′(t) = −
(

df(γ′(t))
f ◦ γ(t)

)2

+
df(Dγ′(t) γ′(t)) + Ddf(γ′(t), γ′(t))

f ◦ γ(t)

= −µ′(t)2 +
Hess f(γ′(t), γ′(t))

f ◦ γ(t)
. $A�AA+

�� � ���� �� 
���
 �� �� ��2����	�� $A�A(+ 4

µ′′(t) ≤ Hess f(γ′(t), γ′(t))
f ◦ γ(t)

≤
(

4n
3

+ 1
)

a. $A�A@+

�
������� �
� x ��� 
� ��	�� �� f  �� ���� µ ����	�� ��� �	�	�
�� �� �
����� µ′(0) = 0 �� ���� �� ������
��� �
� d ��2��� �� �	������ �� N  

µ′(t) ≤
(

4n
3

+ 1
)

at, $A�A;+

��

µ(t) ≤ 4n + 3
6

at2 ≤ 4n + 3
6

ad2. $A�AH+

5>



�� ������� f(y)
f(x) ��� ���� ��2��� ��� 
�� ��������� τ = exp(4n+3

6 ad2)�
,���� �� � ������ ����� ��2����	�� �� ������� ��
� x 
� ��	�� �� f
����	�� ��� �	�	�
� ���� ���� 
��	� � 
�	���	� ��
� 
� x �
������
��

#�����
� 4 �	 ��� 9��� ���� 	������	�
�� ����� �� �0��� U ��� �� �����
���������� Q� ��� �	�� �� 
��	9�� " ���	�� �� $A�5'+ �
� DU U ��� ����� �
� 
������"��	�� �
� ��� 9���� ���� ���������� ������	�
���
 
����������� *� �� ����������� �	� ! �� �
� ��� �� ��	� �� �������

�	��� �� ����� A�5@ �
� 9���� �� ���� ��
� ������� �
� g ��� ����0� ��
��
����	�
� ��
� ���
���� ��
��� ��� 9���� ���� 	������	�
���

��	� Ū ∈ G ��� �
� �� U �� �0��� 
���	��� 	��
	� ��� Ū �
� M � ��	�
x0 ∈ N � �� �0�	�	� Ū �� ����� �
� |U | = 1 �
 ����
� �� x0� /� ��
� ��
	����� " Ū ���
�	� 
� ���C�	��� �	�����
� ���	����� ������"��	�� �
� Ū ���
���	���	�� " 
� 
����
� �� Z

k ⊂ G� �����	�� �
 N�� �����	� " U 	��
	� �����

�� 9����	�� S1 ↪→ M

π→ (M ′, g′)� �� ��
� �����G��� �� ��
��
�� �� �� 9����
B� ���� 
�	�	���� �� ����
�� �� ��?�	�� �� ��
� ���	��

KM ′(X̃, Ỹ ) = KM (X,Y ) − 3
4
|[X,Y ]V |2

= KM (X,Y ) − 3
4
|dω(X,Y )|2

|ω|2 , $A�A8+

�� X̃ �� Ỹ ���� ��
� 
����
�� ���0������� �� M ′ X �� Y ��
�� ����
�� ����
����	�� �
� M  �� ω �� 1������ 	��
	�� ��� �����	�� �� T k ����� �
� ω(U) = 1�
�� ����� A�' ������ �� �����G��� �� ����	�� ����� �� �����	�� �� �� ��
��
��
�� M  �� ����

KM ′(X̃, Ỹ ) ≥ −a − 2a = −3a. $A�A'+

�� ����� A�5@ ���
�� ����� �
�	� ��	��� 
�� ��������� τ(n, a, d) ����� �
�

1
τ
≤ |U | ≤ τ. $A�A-+

?����� g̃ �� ����	�
� 	�
��	���� �
� M �����
� �� ���	9��� g ���� �� �	�
����	�� 
���	���� �� ����� �
� ��� 9���� ��	��� 	������	�
�� " π−1(x0) �� ��
������
��� �� �	���	�
�	�� 0��	3������ �� �� ����	�
� 0��	3������ �����	��� "
g� :�
� ����� ��

���� ����	�
� �� ����� �� U ��� 
�	��������� ����� " 5�
�� �����	�� $A�A-+ ��
� �����	��

1
τ2

g̃(U,U) ≤ g(U,U) ≤ τ2g̃(U,U), $A�@(+

:�� ����	�
	�� $A�@(+ ������� " ��	������ �
�� 
����
� 
���	���� ,���� g ��
g̃ ���� 	����	�
�� �
� �� �	����	�� 0��	3������ �� �
�� 9��������

1
τ2

g̃ ≤ g ≤ τ2g̃. $A�@5+

:�
� �����
�� ������
��� �
� �	 �� ����	�
� �
� M ��� ����� �
� ���
9���� ��	��� 	������	�
�� �� 9����	�� S1 ↪→ M

π→ (M ′, g′) 	��
	�� ��� ��
�0��� U ��� " 9��� ���������� ������	�
�� :�� ����	�
	�� ��� 9���� �
 9���
T k ↪→ M → N ���� ����� �
��	 ���������� ������	�
���

5A



��� ��� �������

�� 
� ��	������� ��������� �� �0������ A�>� :�
� �� ��	�� �� 
� ��	���
�	��� ��
�� ����������	�� ��
� �0������ �� ���� $%��(>) �0������ >+ �
	

�	�	�� ��� ���
����� �� %,6&->)�

��	� g 
�� ����	�
� �
� M 
��	9��� ��� 0!���0��� �
 �0������ A�>� 7�
�
������� �� 
�	�	���� 
� ���
���� �� ���
���	���	�� ��������0 $%,6&->) �0���
���� 5�5>+ �� ������
	� 
�� ����	�
� g1 �
� M ����� �
� 1

τ1
g ≤ g1 ≤ τ1g 

|K(M,g1)| ≤ a �� ‖Di R‖ ≤ Ai(n, a, τi) �� τ1 > 1 ��� 
� ���� 9�� �� D ��
R ���	����� �������	
����� �� ���	
�� ��
��	���� �� �� �����
� �� ��
��
��
��
� �� ����	�
� g1�

�� ����	�
� ���
	�� �� �0������ >�H �� %,6&->) �
	 ���
�� ����	������ ��
���������� ε0(n, (N,h)) κ(n,A) κ′(n,A, (N,h)) �� κi(n,A, (N,h)) �� ��
��
9����	�� π′ : (M,g1) → (N,h) ���� �
� �	 π ��� 
�� ε�������	���	�� ��
D�
����� �
�� ε < ε0(n, (N,h)) ����� 4

R ��
� ��
� x ∈ N  �� �	������ �� π′−1(x) ��
� �� ����	�
� g′ ��� 	����
�	�
� " κε S

R �� ������� ����� ������������ �� �� 9��� 
��	9� ‖IIπ−1(x)‖∞ ≤ κ′ ��
�
��
� x ∈ N S

R �� �
�����	�� π′ ��� κi����
�	��� ������"��	�� �
� ‖Di π′‖∞ ≤ κi ��
�
��
� i ∈ N S

B�9� ��
� 
�� ����� 9����	�� π′ ��� ����	�� A �� @ �� %,6&->) �������
�� ������
��	�� ��
� ����	�
� g2 �
� M �
	 ��� T k�	�
��	���� �� ����� �
�
|Di(g2 − g1)| ≤ c(n,A, (N,h), i) ��
� ��
� i ∈ N� ,���� ����	��� ����	��
���
�� ����	������ ��
�� ��������� τ2(n,A, d, (N,h)) ����� �
� 1

τ2
g1 ≤ g2 ≤

τ2g1 �� ������ �
��	 �� �����G��� �� ��
��
�� ��
� �� ����	�
� g2�
�� ��
� ����� ����	�
�� �� ������	�	�� A�H �
	 ��
� ����� 
�� ����	�
�

g3 �
	 
��	9� ��� ��	��� $�+ " $���+ �� �� ��9�	�	�� A�5�
:�
� �����	� �� ����	�
� g̃ �
 �0������ A�> 	� ����� " ���	9�� �� �	���	�

�
�	�� 0��	3������ �� ���	��� " �� �
� g̃ 
��	9� �� ��	�� $	
+ �� �� ��9�	�	��
A�5� #�����
��� ��
� ������� �
� ����� ������	���	�� e : G∗ → H2(N) ���
�	���	�� 	� �
C� �� ������� ������	�� dω = π′∗(e(ω)) ��
� 
�� ���� �� G∗�
��	� (ωi) 
�� ���� �� G∗ ���0������� ��
� �� ����	�
� g3� :�
� �0��
� i 
dωi �����	�

dωi = π′∗(αi + dβi), $A�@>+

�� αi ��� 
�� ����� 0�����	�
� �� βi 
�� ����� ��������� �� ��9�	� 
��
��

���� ����� 
���	���� ω′

i = ωi − π′∗(βi)� ,���� ����� 
��	9�

dω′
i = dωi − π′∗(dβi) = π′∗(αi) ∈ H2(N). $A�@A+

��	��������	�� ��� ��!�
� ��� ������ ω′
i ��9�	� 
�� ��

���� �	���	�
�	��

0��	3������� �� ��9�	� g̃ ����� ����� �� ����	�
� �
� M ����� �
� π′ :
(M, g̃) → (N,h) ��	� 
�� �
�����	�� �	�����	���� �� g̃ = g3 �
� ��������

���	���� ,���� ����	�
� 
��	9� �� ��	�� $	
+ �� �� ��9�	�	�� A�5 �
 ��	� ��
$A�@A+�

5@



�� ��	� ������ 
��	9�� g̃ ��� ����0� �� g3� #�����
��� �
�

g̃ − g3 =
∑

i

(ω′2 − ω2) =
∑

i

(2π′∗(βi) ⊗ ωi + π′∗(βi)2).

�� �� ,����	� �� &� ,�
���	� ��� ������ ���� %,,(() $����� ��A>+ �
�	�
��	��� 
�� ��������� κ(n, a, d, (N,h)) > 0 ����� �
� ��� ������ βi ������ �
���
��� � ��9�	�� 
��	9��� ‖βi‖∞ ≤ κ �� �
	 ������ �� �����
��� #�����
� 4
�� ����� ��A> �� %,,(() 
�	�	�� �� ��	� �
� ��
� �� ����	�
� g3 �� �����
�� �� ������� ����� ������������ ��� �����G�� �� �
� �� �
�����	�� π′ ���
κi����
�	���� Q� ����� ���� ��� �
	���� �
��� �
	��� �����	� �� �0������ A�>
�� �
������� �
� �� ����	�
� 	�	�	��� g ��� 	�
��	���� �� �� �� ������� ���
���
����� �� %,6&->)�

B�9� 	� ����� " ������� �
� �� ��
��
�� �� (M, g̃) ����� ������ ����
�� �	����	�� 0��	3������� ��	� x ∈ N  X̃ �� Ỹ ��
� 
����
�� ���0�������
�������� " N �� x ω̄ 
�� 1������ 	�
��	���� �� T k ω �� 1������ 	��
	��
�
� M ��
� �� �	���	�
�	�� 0��	3������ �����	�� " g �� ω′ �� 1������ 	��
	��
��
� �� �	���	�
�	�� �����	�� " g̃� ,�� ��
� ������ 
��	9��� dω′ = π′∗(α) ��
dω = π′∗(α + dβ) �� α ��� 
�� 2������ 0�����	�
� �� N �� β 
�� 1������
�� N �

/������ �� ����
�� �� ��?�	�� 	� �
C� ��
� �����G��� �� ��
��
�� ����	���
����� K(M,g̃)(π′∗(X), π′∗(Y )) �� ��2���� �� ����� �� [π′∗(X), π′∗(Y )]V � �� 
�� ��
� ���	�� ��
�� ���� 

ω′([π′∗(X), π′∗(Y )]V ) = dω′(π′∗(X), π′∗(Y )) = α(X,Y ). $A�@@+

/��
��� ���� �� �
‖α‖∞ ≤ τ ′(N,h)‖α‖2, $A�@;+

������� %�	'() $�0������ 8+ ��� α ��� 0�����	�
� ��

‖α‖2 ≤ ‖α + dβ‖2 = ‖dω‖2 ≤ ‖dω‖∞, $A�@H+

�� 
�	�	���� �� ��	� �
�
�� ����� 0�����	�
� ��� �� ��
� ���	� �������
�� �� ������ �� ��0������	� ��
� �� ����� L2� B�9� �� ����� A�'
������ �� �����G��� �� ����� �� dω �� �����	�� �� a �� ‖ω‖∞ �� ��
����� �� ω ��� �����G�� �� �����	�� �� ‖ω′‖∞� ,���� �� ��2����	�� ��
ω′([π′∗(X), π′∗(Y )]V ) �����
� ��� 	����������� �
 �0�	� �� ω̄ �� � �	�� 
��
��2����	�� �� |[π′∗(X), π′∗(Y )]V | �� �����	�� �� n a �� d�

� ������ 	����	����� �� ���	��� ��
���� �������

?�
� ������ 	�	 ��������� �� �0������ 5�5' ������� ���� ��	�����
��	���
,��
	��	 �����
	� ������	�������� �
� ��
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)���� �	� $��� (M,g) ��� ��	���� 	������������ ϕt �� 4�� �'������ ��	
������	�� ��	 M �� X �� �.��� �� ������	 ������� 0� ������� �� ���� ���
X ����� ��� ���
�	������ ��� 

$��� E �� ����������� �� Ω∗(M) ���
�� ��	 �� ��������� �� ��	 (ϕ∗
t )t∈R� λ

��� �����	 �	��	� �� ��������� 	���	���� � E� �� Eλ �������� �	��	� ������� 

$��� ������ T ��� ��� ϕ∗
t+T = ϕ∗

t ���	 ���� t ∈ R �� ��� λ <

(
2π

T‖X‖∞

)2

�

���	� (ϕ∗
t )t∈R �'�� �	���������� ��	 Eλ 

 
����������� *� ����� �	� ! #�����
��� ��
� ������� �
��� ��
�
�
������ �
� T = 2π �� ���
���� ������� �� ���
	���� ��� �	���� �0��������
�� 
��	����� /��
��� ���� ��� �0���	� �� D���� �� ��
� �� ������	���� "
����
�� ��� ������ ���������� �� �
������� ���� �
� λ ��� 
�� 
���
� ������
�� δd|Ker δ �� Eλ ���	����� �� ��
�������� ������ �����	� ���� Ker δ�

��	� ω ∈ Eλ� �� ��	� �
� LXω = iX ◦ dω + d ◦ iXω�

/�
�� ���� �� � LXω = lim
t→0

ϕ∗
t ω − ω

t
� :
	��
� ϕt ��� 
�� 	������	� ���

������ ϕ∗
t ω �� ϕ∗

t ω−ω
t ���� ���� Ker δ �� ���� LXω �
��	 ��� Ker δ ��� ������

/��
��� ���� d ◦ iXω ��� ���� Imd�
,���� Ker δ �� Imd ���� ���0�����
� ��� ������ LXω �� d ◦ iXω ����

���0��������� �� �0������ �� :!�0����� ����� ���� 4

‖LXω‖2
2 + ‖d ◦ iXω‖2

2 = ‖iX ◦ dω‖2
2. $@�>+

�� �� ���
	�

‖LXω‖2
2 ≤ ‖iX ◦ dω‖2

2 ≤ ‖iX‖2‖dω‖2
2 ≤ ‖iX‖2λ‖ω‖2

2. $@�A+

�� 
� ��	������� ��2���� �� ����� �� iX ��
�� ���� �� �
��
�� ����� ��
LXω ���
��� �����

��+������� *� ‖iX‖
�� 
� 
�	�	��� �� ��	� �
� �	 X ��� 
� �0��� �� 
����
� α 
�� p������

�	������	���� �� β 
�� (p + 1)������ ����� �� � �� ��
� ��	�� g(X� ∧α, β) =
g(α, iXβ)�

��	� α ∈ Ωp(M) �� 
�
� ����
��� ‖iXα‖� B� ��
� ��	�� �� ��
� ���	�� 4

|iXα|2 = g(iXα, iXα) = g(α,X� ∧ iXα) ≤ |α| · |X� ∧ iXα| $@�@+

��
|X� ∧ iXα|2 = g(iXα, iX(X� ∧ iXα)) = |X|2 · |iXα|2. $@�;+

�� �� ���
	� 4
|iXα|2 ≤ ‖X‖∞ · |α| · |iXα| $@�H+

�� ����
‖iX‖ ≤ ‖X‖∞. $@�8+
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,��,�� *� ‖Lxω‖
,���� ϕt ��� 
�� 	������	� ϕ∗

t ��	� ��� 	������	� �
� Eλ� �	 �� �
�����
�
� t �→ ϕt ��� 2π����	��	�
� ϕt 	��
	� ���� 
� ����0	��� S1 → SO(Eλ)
�
��� ��
� ���������� �� ����� �� �����������	�� 	����
��	�����

��� �����������	��� 	����
��	���� �� S1 ���� 4
R �� �����������	�� ��	
	��� S1 → SO(1), t �→ Id S
R ��� �����	��� �
 ���� S1 → SO(2), t �→ R(kt) =

(
cos kt − sin kt
sin kt cos kt

)
, k ∈ Z∗�

�
������� ��	������� �
� �� ��������	�	�� ����� ������E��� �
 ��	�� 
��
�����	��� �� ��
� �0�	�	� 
�� ����� ω �= 0 �	�
�� ���� �� ��
�������� ������
�����	�� �� � �����

‖LXω‖ =
∥∥∥∥limt→0

ϕ∗
t ω − ω

t

∥∥∥∥ = |k| · ‖ω‖ ≥ ‖ω‖. $@�'+

�
�� $@�A+ �� $@�8+ �� �� ���
	� 4

‖ω‖2 ≤ λ‖X‖2
∞‖ω‖2, $@�-+

�� 9��������

λ ≥ 1
‖X‖2∞

. $@�5(+

�� �����
�	�� �
 ����� �� ����
�� 	����	��������

:�
� 	��
����� �� ����� �� 
� ������� ������	�
�� ���� �� ��� �� �� 9���
��� 
� ������ 4

��
����� �	�� $��� (M,g) �� �
	� �	������� �� ��	��� ���� ����� ���
�	���� S1�����	����� 0� ���� l0 �� ������� ��� ���'���	� ��� �
	�� 

$��� λ ��� �����	 �	��	� �� ∆p $� λ <

(
2π
l0

)2

� ���	� ��� 
�	��� �	��	��

��������� ���� S1�����	������ 

 
����������� *� ��
����� �	�� ! ,���� 
�� ����	���	�� �	����� �

����� @�5 �
�� E = Ωp(M) �� N�� ϕt ����� 	��
	� ��� �����	�� �� S1� ��
�0��� X ��� ����� 
� �0��� 
���	��� S1�	�
��	����

�	 �� ��������� ϕt �� ���	��� " .��� 2π����	��	�
� �� ����
�
� l ��
��
9��� ���� ����� " 2π|X| �� ����� �� X �� ��������� ��� �
 ��	�� �0�	�	 �
�
�� 9���� �� � ����

|X| =
l

2π
$@�5>+

�� ��� ������
���

‖X‖∞ =
l0
2π

. $@�5A+

�	 λ <
(

2π
l0

)2
 ����� λ < 1

‖X‖2∞
�� ���� ��� ������ ������� �� Eλ ���� S1�

	�
��	������
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�� 
� ��	������� ��������� �� ��� ��������
 
����������� *� ��
����� �	�� ! #�����
��� ��
� ������� �
�

���� �� ����������	�� �
 �0������ @�55 �� ��������	�	�� �� Ωp(M) ��
�������� 	����
��	���� ��� 
�� ��������	�	�� �� ���	� �� 6�
�	�� ��� �������
" �� 9��� S1 �� �����������	�� ��	
	��� �� ��� �����������	��� θ �→ R(kθ)
������������� �������	
����� �
� �����	��� ���������� �� �
� �����	��� 2π

k �
���	��	�
�� �
 ������� �� 
� ��������� ����� 	��� �� ������	�
�� �
 ���� T k

��
� ���������� Ωp(M) �� ����� �� ��
��������� �� ������ 	�
��	�����
���� 
�� �	����	�� �� ���	��	�
�� ���� 
�� �
��� ��
� ���
	�� ����	�
�� ��
����� @�5 " ��� ��
����������

:�
� ����	������ �	 �� ���� T k = R
k/Z

k R
k ����� �
�	 ��
�� ����	�
�

�
��	�	���� $��� �������	������ �� ����	�
� �
��	�	���� �����	�
�+ �� �	 Γ
��� �� �����
 �
�� �� Z

k Γ = {γ ∈ R
k, 〈γ, γ′〉 ∈ Z,∀γ′ ∈ Z

k} 
�� ����
��� �����	��� ������� �� T k ��� ������ ��� fγ = cos(2π〈γ, x〉) �� gγ =
sin(2π〈γ, x〉) γ ∈ Γ $
�	� ��� ������� %&D�'8) �� >((+� �	 �� ���� γ⊥

�����0������ �� γ ���� R
n ��� �����	��� fγ �� gγ ���� 	�
��	����� ��
� �����	��

�� γ⊥� �� ��
� ������
�� �
� �	 Γ ������ �� �� ����	�
� �0�	�	� �
� R
k 

�� ����� ��� �� ��� �� ���������� ��� γ⊥
γ �=0� B� ���� ����� ���������� ���

0!�������� 
�����	��� �� R
k ��������� ��� ��� �������� �� Z

k� ?����� A ���
��������� B� �����
���� ��� �����	��� ������� �� �����	�� �� ��
� �	����	��
	�
��	���� �� ���	��� �� ��������	�	��

C∞(T k) =
⊕
V ∈A

C∞(T k)V ⊕ R $@�5@+

�� R ���������� ��� �����	��� ���������� �� �� C∞(T k)V ��� ��������
��� �����	��� C∞ ��	�������� �
��� $������"��	�� ���0�������� �
� �����	���
����������+ �� 	�
��	����� ���� �� �	����	�� V � :�� ������
��	�� �0��
�
C∞(T k)V ��� 	�
��	��� ��� ∆ �� ��� �����	�� �� T k�

/� �� �.�� ��T�� Ωp(M) ��
� �����	��

Ωp(M) =
⊕
V ∈A

Ωp(M)V ⊕ Ωp(M)T
k
, $@�5;+

�� Ωp(M)T
k

��� �������� ��� p������� T k�	�
��	����� �� Ωp(M)V ��������
��� p������� �	������	����� 	�
��	����� ��� �����	�� �� V �� ���0�������� "
Ωp(M)T

k
� ,���� V �� ������ ��� �� �� ����	�
� �
� �0��
� 9��� �0��
�

��� Ωp(M)V ��� �	�� ��9�	 �� ���� �� ��
� 	�
��	��� ��� ∆ �� ��� �����	��
�� T k� �� � �	��	 ����	�������� ��������� ��� ������ �	������	����� �� M ��
���	� �� 6�
�	�� ��� ������� " �� 9����

��	� V ∈ A λV
M 
�� 
���
� ������ �
 ������	�� ������	�� " Ωp(M)V �� λV

T k

�� ����	��� 
���
� ������ �� Ωp(T k)V $ ������
� 4 ���� ��� ��� �
��� ��� ���
������ 0�����	�
�� �
 ���� ���� ���� ��� ������ 	�
��	����� +� �� �0�	�	� �
�
T k 
� �0��� 	�
��	��� XT k ���0������ " V �� �� ���� XM �� �0��� 
���	���

5'



�
� M 	��
	� ��� XT k � �����	�� �
� Ωp(M)V �
 N�� ϕt �����	� " XM ���
���	��	�
� �� �	 �� ���� T �� ���	��� λV

T k ��� ��� ������
��	�� ����������(
2π

T‖XT k‖∞

)2

� /��
��� ���� ����� ḡx ≤ f(x) · ḡ ��� ������ �� ‖XT k‖∞
�� ‖XM‖∞ ���� �	�� 4

‖XM‖∞ ≤ (sup
B

f)1/2 · ‖XT k‖∞, $@�5H+

���� �	 λV
M < (supB f)−1λV

T k  �����

λV
M < (sup

B
f)−1

(
2π

T‖XT k‖∞

)2

≤
(

2π
T‖XM‖∞

)2

, $@�58+

�� �� ����� @�5 ������	�
� �
�� E = Ωp(M)V �� ��� ������ ������� �����	���
" λV

M ���� ϕ∗
t �	�
��	����� ���� T k�	�
��	������

�	 λM ��� 
�� 
���
� ������ �
 ������	�� ��	����� �
� Ωp(M) �� �
�
λ ��� ���	������� 	����	�
�� " �� ����	��� 
���
� ������ �� T k ����� ����
���� � 
�	���	� 	����	�
�� " ��
� ��� λV

T k �� ���� ��� ������ ������� �� λV
M

���� Ωp(M)V ���� T k�	�
��	������ ,���� ��� Ωp(M)V ���� ������� ��� ��
������	�� �������� ������ �� λM ��� �� ����� ��� ������� ������� ������	���
�
� Ωp(M)V � :�� ������
��� ��
��� ��� ������ ������� �����	��� " λM ����
T k�	�
��	������

 
����������� *� �� �������� �	
� ! Q� �
C� �� ������
�� �
�
���� �� ����� @�5 �	 �� �	����	�� �
 ��
�������� ������ Eλ ��� 	���	�� 
�� ��������	�	�� �� ��� ������ �� ������ �� �����������	��� 	����
��	����
����	��� �������	������ 
�� �����������	�� ��	
	��� �� ���� Eλ ����	��� ���
������ 	�
��	����� ��� ϕt� /��� �� ��� �
 �0������ @�55 ��� ������� �������
�� �	����	�� 	���	�� �
 ������	�� ��	����� �
� Ω∗(M) ����	������ ���� ���
������ S1�	�
��	������

/��� �� ��� �
 �0������ 5�5' �	 
� ������ ������ �
 ������	�� ��� ��
�	����	�� 	���	�� ��
� ��� �������� �� �� ��������	�	�� �� 6�
�	�� �� ���
������ ���� �
��	 �� �	����	�� 	���	�� �� �� ������
� ���������� ������	�
��

� ���	��� ��
���� ������� �� ����� ��	� ���	�	��

?�
� ������ ��	������� ��������� �� �0������ 5�A� �� ��� k = 1 ���
��
���� �� %,,(() ��
� �
��������� k ≥ 2� ��	� N 
�� 
��	��� ����� �
�
b2(N) ≥ k� �� ��9�	� 
� 9��� ��	��	��� �� ����� M �
� N ��� �� ������
��
�� ����	���	�� e : G∗ → H2(N) �
��� �
������� 	�2���	
� $����� ����	���
��� b2(N) ≥ k+�

�� �� ����� �
� M �� N ��� ����	�
� g �� h ������ �
� �� ��
��� (g, h)
��	� ������ $�
 ���� ��9�	 �� A�5+ " �� 9����	�� M → N �� �
� �� �����	��	��

5-



ḡ �� �� ����	�
� g " �� 9��� T k ��	� �� ������� �
 �
��	��� �� �� ����	�
�
�����	�
� �� R

k " T k = R
k/Z

k $�� � 

 ���� �� ����	�� ���������� �
� ��
��	� �
� ��� 9���� ��	��� ���������� ������	�
�� ��� ��
	
����� �
 ��	� �
������
��	��� 	������	�
�� ����� �����+� �� 
� ������
	�� �� ���	��� �� ����	�
� (gε)
�
� M �� ��	���� 
��	�� �� ����	�
� gε �� ���� �� �� 9��� �� ������	�� �� ��
���������� 0��	3������ �� �� ����	�
� ������� 	����	�
� " ������ �� g�

��	� y ∈ R
k−1 
� (k − 1)�
���� �	C�	������ ������0���� ������"��	�� ���

�
�	� ��	��� 
�� ��������� c(y) ����� �
� ��
� ��
� p ∈ Z
k−1 �� ��
� q ∈ Z 

�� �
‖p − qy‖k−1|q| ≥ c(y), $;�5+

�� ����� ����	����� ����� �� ����� �
��	�	���� �����	�
�� �� ��	� �
�	�
��	��� 
�� 	�9�	�� ��� ����������� �� ���� (k − 1)�
���� $
�	� %��'() ��
>> @5R@A+� �� �� ����� 
�� ���� ���0������� (X1, . . . ,Xk) �� R

k �����
�
� X1 ��	� ���	���	�� �
 
����
� (1, y)� :�
� ��
� ε �� �� ����� �� ����
Bε = (1

εX1,X2, . . . ,Xk) �� �� ��9�	� �� ����	�
� ḡε �
� R
k �� ������ �
� Bε

��� ���0������� ��
� ḡε ������"��	�� �
��� ���	��� ḡε �� ����������� ��� ����
�
�
�� ��
� ������� ε ���� �� �	����	�� �� X1� �� ������� �� ḡε �
 �
��	���
R

k/Z
k ������	�� 
�� ����	�
� �
� T k �
	 ������.�� 	��
	� �� ����	�
� (gε)

�
� M � �� � �� ����	�
�	�� g1 = g� ��� ���
����� �����	�
�� �
� ��� ��������
���� $%,�'@) %,&'H) �0������ >�5+ ���
�� �
� �� ��
��
�� �� (M,gε) �����
������ �
��� ε ���� 
��� 3����

�� 
� ������� ��	�����	�� 5�@ �
 �0������ 5�A �� ���	���� �
�����	
�����
�� 
��
�� �� ��!�� ��	�2���	
	�� �� �� ����	��� 
���
� ������ �� M �� �����	��
�� ε�

-��� �	
 ���	 ���� ε ∈]0, 1]� �� � Vol(M,gε) = Vol(N,h) · ε 

 
����������� ! Q� �
C� �� ������
�� �
� Vol(M,gε) = Vol(N,h) ·
Vol(T k, ḡε) �� �
� Vol(T k, ḡε) = DetBε B1 = ε�
:�
� �����	� �� �0������ 5�A �� �
�� " ������������ gε �� ����� �
�
Vol(M,gε) = ε�

-��� �	� %� ������ ��� ���������� ε0(y, k) > 0 �� C(y, k) > 0 ����� ���
injrad(T k, ḡε) ≥ C · ε 1

k ���	 ���� ε < ε0 

 
����������� ! ,���
��� �� ��!�� ��	�2���	
	�� �� (T k, ḡε) ��
	��� " ����
�
��� �� �	�	�
� ��� ������ ���� R

k ��� ��	��� ��� �
�� �
 �����
 Z
k ��
�

�� ����	�
� ḡε� :�
� ����	������ �� ��
� ���	��

2 injrad(T k, ḡε) = min
(p,q)∈Zk−1×Z\(0,0)

‖(p, q)‖ḡε $;�@+

��	� (p, q) ∈ Z
k−1×Z\(0, 0)� �� ���� z �� ���2���	�� ���0������� �� (p, q)

�
� �� ���	�� 
�����	���� D ��������� ��� X1 $������
� 4 ���� �� ������ ���
�� ε+ θ ������� ����� D �� ��0!������� R

k−1×{0} ��
� �� ����	�
� �����	�
�

>(



$�� � tan θ = ‖y‖−1+ �� θ′ ������� ����� D �� �� 
����
� (p, q)− (q · y, q) $
�	�
9�
�� 5+� /� ��
� �� ������ ‖ · ‖ḡε �� ����� ��
� �� ����	�
� gε �� ‖ · ‖ ��
����� �
��	�	���� �����	�
�� �� ��
� ���	�� 4

‖(p, q)‖2
ḡε

= ‖(p, q) − z‖2
ḡε

+ ‖z‖2
ḡε

. $;�;+

(0, q)

θ

D

z

(qy, q) (p, q)

R
k−1

θ′

R

���� 5 R

�� 
����
� (p, q)− z ��� ���0������ " D ���� �� ����� ‖(p, q)− z‖ḡε ���
	����������� �� ε� �� � ���� �� 
�	�	���� �� �����	�� $;�5+ 4

‖(p, q) − z‖ḡε = ‖(p, q) − z‖ = sin θ′‖p − qy‖ ≥ sin θ′ · c(y)
1

k−1

|q| 1
k−1

. $;�H+

,���� θ ≤ θ′ ≤ π
2 �� �� ���
	�

‖(p, q) − z‖2
ḡε

≥ a

|q| 2
k−1

$;�8+

�� a ��� 
�� ��������� �� ��������� �
� �� k �� y�
�� 
����
� z ��� ��������� " D ���� ‖z‖ḡε = ε‖z‖� /� ��
� �� �

‖z‖ ≥ ‖(q, qy)‖ − ‖z − (q, qy)‖ ≥ ‖qy‖
cos θ

− ‖z − (q, qy)‖. $;�'+

�� ��
� �
������ �
� ‖z−(q, qy)‖ ≤ ‖qy‖
2 cos θ � B� ���� ���� �� ��� ������	�� ��

� ‖(p, q)− z‖ḡε ≥ sin θ‖p− qy‖ ≥ sin θ
2 cos θ‖qy‖ ≥ q

2  �� �
	 �	��	9� �	 q �= 0 �
�

>5



‖(p, q)‖2
ḡε

��� �	���� ��� 1
2 �� ���� �� ����	�� ��� �� �	�	�
� �� $;�@+ �
���

ε ��� �
C������� ���	� $�	 q = 0 ����� sin θ‖p − qy‖ �
	 ��� 
�	���������
�	����+� �� ���	��� 9�������� �� �	�����	��

‖z‖2
ḡε

≥ ε2 ‖qy‖2

4 cos2 θ
= ε2bq2, $;�-+

�� b ��� 
�� ��������� �
	 �� ������ �
� �� y �� ����

‖(p, q)‖2
ḡε

≥ a

|q| 2
k−1

+ ε2bq2. $;�5(+

�� �����	�� f : t → at−
2

k−1 + ε2bt2 ����� �
� R
∗
+ 
� 
�	�
� �	�	�
�

�� t =
(

a
ε2b(k−1)

)k−1
2k

���� �� 
���
� ��� ε2a
k−1

k b
1
k ((k− 1)

1
k + (k− 1)

1−k
k )� ��

��
� ���� �� ���
	�� �
�

‖(p, q)‖ḡε ≥ Cε
1
k $;�55+

�� C ��� 
�� ��������� �� ��������� �
� �� y �� k�
#�����
� 4 ,���� �� 9��� ��� ���������� ������	�
� ��� ��!�� ��	�2���	
	��
��� ���� �
 ��!�� ��	�2���	
	�� �� M �	 ε ��� �
C������� ���	��

-��� �	�
 %� ������ ��� ��������� C ′(N, k, e) > 0 ����� ��� ���	 ���� ε� �� �
λp,1(M,gε) ≤ C ′ · ε2 ���	 p = 1 �� 2 

 
����������� ! ,�����T��� ��� �� ��� p = 1� :�
� ���	��� �� ����	���

���
� ������ ��� �
��� �� 
� ������� ����
��� �
����� ���� ��� 1�������
0�����	�
��� �� ��	� ��2" ������� ��� ���
����� �� �� ����	�� ���������� �
�
��� ������ 0�����	�
�� ���� T k�	�
��	������ ��	� ϕ 
�� 1������ �	������	����
T k�	�
��	���� �� M � �� ��
� ���	��

ϕ = π∗(α) +
k∑

i=1

π∗(ai) · ωi, $;�5A+

�� α ��� 
�� 1������ �� N  ai ��� �����	��� �� N �� ωi ��� 1������� 
���	�����
	��
	��� ��� 
�� ���� ���0������� �� G∗� �� � ����� 4

dϕ = π∗(dα +
k∑

i=1

ai · ei) +
k∑

i=1

dπ∗(ai) ∧ ωi, $;�5@+

�� ei ���	��� ��	���� �� ωi ��� ������	���	�� e : G∗ → H2(N)� /� ��
� ��
�
��
� i �� �

‖δ(π∗(ai)ωi)‖2 = (δ(π∗(ai)ωi), δ(π∗(ai)ωi))
= (π∗(ai)ωi,dδ(π∗(ai)ωi)), $;�5;+

>>



�� (·, ·) ���	��� �� ����
	� �����	�� L2� ,���� π∗(ai)ωi ��� 
�� ����� T k�
	�
��	���� δ(π∗(ai)ωi) ��� 
�� �����	�� 	�
��	���� ������"��	�� �
� ����� ��
����
� ��
�� �����	�� �
� N � :�� ������
��� dδ(π∗(ai)ωi) ��� �� ����
� ��
��
1������ �
� N  �� ��� ���� ���0������� " π∗(ai)ωi� 6	�������� �� � 4

δϕ = π∗(δα). $;�5H+

�	 ϕ ��� 0�����	�
� �� � dϕ = 0 �� δϕ = 0 ����

δα = 0, dai = 0 ��
� ��
� i �� dα +
k∑

i=1

ai · ei = 0. $;�58+

,���� ��� �����	��� ai ���� ���������� 
∑k

i=1 ai · ei ��� 
�� 2������ 0�����
�	�
� �� N  ���� ���0������� " �� ����� ������ dα� �� � ���� ∆α = 0 ��∑k

i=1 ai · ei = 0� ,���� e ��� 	�2���	
� ��� ei ������� 
�� ���	��� �	��� ��
���� ai = 0 ��
� ��
� i� �� ���	��� 9�������� �
� ��� 1������� 0�����	�
��
�� M ���� ��� ����
�� ��� 1������� 0�����	�
�� �� N �

:�
� ��2���� �� ����	��� 
���
� ������ ��� �
��� �
 ������	�� 	� �
C� ��
����
��� �� �
��	��� �� #�!��	�0 ��
� �� ����	�
� gε ��
�� 1������ ���0����
���� �
� ������ 0�����	�
��� B� ������ (ωi) ��� 1������� 
���	����� 	��
	���
��� �� ���� �
��� �� Bε �� �0�	�	� ����� ����� ���� ε−1ω1� �� 
	��� �� 
�	�
�
� �� ���	������	���� ��
�� ����� ����� ��� �
��� ���� �� ��
� ���	��

R(ε−1ω1) =
‖d(ε−1ω1)‖2

gε

‖ε−1ω1‖2
gε

. $;�5'+

�� ����� ε−1ω1 ��� 	����������� �� ε ���� d(ε−1ω1) �
��	 �� ����� ��
��
� ���� ��� 0��	3������ ���� �� ����� �� ������ ��� �� ε� :�� �	���
�� 
‖ε−1ω1‖2

gε
= ε−1‖ω1‖2

gε
= ε−2� ,���� λ1,1(M,gε) ≤ R(ε−1ω1) �� �� ���
	�

�
� λ1,1(M,gε) ≤ C ′ · ε2 �� C ′ ��� 
�� ��������� ��������� ��� �0�	� ��
N  k �� e�

�� ��� p = 2 �� ���
	� �
 ����	�� ��� �� �0���	� �� D���� �� ������
���
�
� ���� �� ��� p = 1 �� � ���

� 
�� ���	�� 
���
� ������ �
 ������	��
�����	�� �
� ������ ����������

-��� �	�� $� b1(N) > b2(M)� ���	� �� ������ ��� ��������� C ′′(N, k, e) > 0
����� ��� ���	 ���� ε� �� � λp,b1(N)−b2(M)(M,gε) ≤ C ′′ · ε2 ���	 p = 2 �� 3 

 
����������� ! �� 
� �� ������	���� 
�� ��

���� ��	� �
� ������
��������� ��
� ������� �� ���
���� ��
� p = 2 �� ���
	�� �� ���
	�� �� ���
p = 3�

,�����	������ �
 ��� ��� 1������� �� � ��� �� ������� �� ��!�� �	����
�� ������	��� �
����� ���� ��� 2������� 0�����	�
�� $�� ��������� �� �.��
�	C�
��� ���� ����
�� �
 ������� ��� 9���� �� ������� 
�	� %,,(()+� �� 
�

>A



��2���� �� �
��	��� �� #�!��	�0 �
� 
� ������ ���� �� �	����	�� b1(N) ��
�� ����	�	�� b1(N) > b2(M) ���
���� �
��� � �	�� ��2��� 
�� �
 ��
�	�
��

���
� ������� ��� �
�����

B� ������ ��
2�
�� (ωi) ��� 1������� 
���	����� 	��
	��� ��� �� ���� �
���
�� Bε �� ����	���� 
�� ����� �	������	���� ϕ = ω1 ∧ π∗(α) �� α ��� 
��
1������ 0�����	�
� �� N � ��� �
��	��� �� #�!��	�0 ���

R(ϕ) =
‖d(ω1 ∧ π∗(α))‖2

gε
+ ‖δ(ω1 ∧ π∗(α))‖2

gε

‖ω1 ∧ π∗(α)‖2
gε

$;�>(+

�� ����� ϕ ��� ��������� B� ���� �	 �� ����
�� �� �	������	���� �� �� �����
�
��� �� ���	��� 4

d ∗ (ω1 ∧ π∗(α)) = d((
∧
i�=1

ωi) ∧ π∗(∗α))

=
∑
i�=1

(−1)i
∧

j �=1,i

ωj ∧ π∗(e(ωi)) ∧ π∗(∗α) $;�>5+

,���� π∗(e(ωi)) ∧ π∗(∗α) = π∗(e(ωi) ∧ ∗α) �� �
� e(ωi) ∧ ∗α ��� �� �����
�
���	�
� " �� �	����	�� �� N  �� �� ���
	� �
� ��
� ��� ������ �� �� �����
���� �
��� �� ��� ������ " 4

R(ϕ) =
‖d(ω1 ∧ π∗(α))‖2

gε

‖ω1 ∧ π∗(α)‖2
gε

. $;�>>+

�� � ��
�� ���� |ω1 ∧ π∗(α)|2gε
= |ω1|2gε

|π∗(α)|2gε
= |α|2 �� ����

‖ω1 ∧ π∗(α)‖2
gε

= ‖α‖2, $;�>A+

�� ���
��� ����

‖d(ω1 ∧ π∗(α))‖2
gε

= ‖dω1 ∧ π∗(α)‖2
gε

≤ ‖dω1‖2
gε
‖α‖2. $;�>@+

�� 
�	� 9�������� �
� R(ϕ) ≤ R(ω1) �
�� �
� ��	� α� �� ��2����	�� ��
R(ω1) �����
� ������������ ������ �� �����
���

�� 
� ��	������� ������ ��� �������� �� 9���� ��
� ����
��� �� ����	�
�	�� b1(N) > b2(M) ��� �	�� 
��	9���

"#����� �	
� �� ����	���� ��
� ��
� ���	�� k �� 
��	��� M = (S3)k × S1�
�� 9����	�� �� D��� S1 ↪→ S3 → S2 	��
	� 
�� ���	�� �	��� �� T k = (S1)k �
�
(S3)k �� ������ ���� �� ��9�	� 
�� 9����	�� ��	��	���� T k ↪→ M → N  ��
N = (S2)k ×S1� �� ������ ��B
��� e �� �� 9��� ��� �	�� 	�2���	
� 4 ��	���� ��
e ��� ��������� ��� ��� ����
�� " M �� �0��
�� ��� ������� ��B
��� ����������
���� �
� 9����	��� �� D��� �
	 ���� �	�� �	���	������ 	������������ B�9� 
�� ����
�� �� <U����0 ������ �� ����
��� �	������ ��� ������� �� ����	 ���
����
	�� M �� N  �� ���	��� �� ����	�
�	�� b1(N) = 1 �� b2(M) = 0�

>@



�������� �	
� /��� ��������� ��������� ��� ����	�
�� �
� M �� N
�� ���� � �	��	� ��� ��� ����	�
�� ����
	��� �� �� ��
� ���� ��� ���
	��
�	��������� ��� �����	���� �
 ������� �� �� ����
�� �� <U����0�

Q� ����� ��9� " ��������� �
� �������	�� 5�'�
 
����������� !

,�� n = 5 4 �� ����	���� 
�� 
��	��� �������� N �� �	����	�� A ����� �
�
b2(N) ≥ 2 �� �� �0�	�	� ��
� M 
� 9��� ��	��	��� �� ���� T 2 �
� N ���� ��
������ ��B
��� ��� 	�2���	
�� ��� ���
����� ���������� ���
�� ����	������ ��
�
����������� ��� �
� λp,1(M) ≤ C · injrad(M)4 ��
� p ���� " 5 �� >� :��
�
��	�� �� D���� �� � �� �.�� 	�����	�� ��
� n−1 �� n−2 ���� ��
� ��
�
p ����� 5 �� n − 1�

,�� n = 7 4 �� ��
� 
��	9�� �
� �� 9��� ������
	� ���� ��������� ;�>;
��
� k = 2 ���
	���� �� ��	� ��2" �
� λp,1(M) ≤ C · injrad(M)4 ��
� p = 1 
> �� A �� �� �
��	�� �� D���� ����� ��	�����	�� ��
� p = 4 ; �� H�

! "	�����	�� �� ������� ��� ����� ��	��	���� ��

����

��� ���������� 

 �� ��
����
 ���
	� �����
 

� 1�����
�

��� ���
����� ��� ����	��� > " @ ��
� ���������� �� ��������� �� �0������
5�5(� �� � 

 �
��� ��

�	� �� ������� �
 ��� ��
� 9��� �
�	 ��
�� ����	�
�
�������� �� 
� ���� ������� �� ���
���� �
 �0������ 5�5( ��
� 
� 9���

��	9��� ��� �����
�	��� �
 �0������ A�> 4

��
����� �	� $��� a > 0� d > 0 ���� 	����� n� k �� m �	��� �����	� ���� ���
n = k + m� �� (Nm, h) ��� ��	���� 	����������� %� ������ ��� ����������
c(n, a, d, (N,h))�� ε(n, a, d, (N,h)) ��	�������� ��������� ������ ��� �� ḡ ���
��� ���	���� ��	 �� ��	� T k ����� ��� diam(T k) < ε �� �� T k ↪→ Mn → N ���
�� �
	� �	������� ���� ���� ������ �� ���	����� (g, h) ������ �� �
	� �� ���
��� g = ḡ �� 	���	������ � �� �
	�� diam(M,g) < d �� |KM (X,Y )| ≤ a ���	
����� ���	� (X,Y ) �� ������	� .�	�#������ �	�.���	���� ���	� �� �

λ1,1(M,g) ≥ c · Vol2(T k).

�� ����� 	�	 ����� ����� 0!���0��� �
� �� ����	�
� �
� N ��� 9���� B�
���� 
�� 0!���0��� �
� �� ��
��
�� �� ��
� ���� ��� �
C������ �� 
����
�
 ��������0� �
	
��� ���� �
���� ���
�� �� ��
� ������� �����	� �� �.��
���
���� �
�� ��� 0!���0���� ��
� ��	����� :�� �	���
�� �� �	�����	�� �
 �������
�� �����	�� �
 ��!�� ��	�2���	
	�� ����
�� �
 ��	� �
� �� ��!�� ��	�2���	
	��
�� M ��� ���� " ���
	 �� �� 9��� �	 ε ��� �
C������� ���	� $�� 9��� �����
���������� ������	�
�+ �� �
� �� �����	��	�� �� �� ����	�
� " �� 9��� �����
����� �� � Vol(T k) ≥ C injrad(T k) �� C �� ������ �
� �� k�

>;



 
����������� *� ��
����� �	� !
/��� 
� ����	�� ����� ��
� ������ ��������� �� �0������ ���� �� ��� ��

�� 9��� M �� ����	��� ��� �� ��
��9��� ��	
	�� ������"��	�� �
��� ������	���	��
e : G∗ → H2(N,h) ��� 	�2���	
�� ?�
� �������	������ ���
	�� �� ���
���� " 
�
9��� ��	��	��� �
������
�� /��
��� ���� �� �� ������	���� �
� ������ T k�
	�
��	����� �� 
���
 ��� ���
����� �
 �0��	��� @ $�������	�� 5�5'+� B� ���� 
�� ������� ��� ������ ���0�������� �
� ������ 	�
��	����� ���� �	���� ��
�����	�� �� �� ��������� ε �
 �0������ �� �� ��
��� ��
2�
�� �0�	�	� �����
��������� �
C������� ���	�� �� ����� �
� �� ������� ��� ������ ���0��������
�
� ������ 	�
��	����� ��	� ��
� ����� �
� �� ����� c · Vol2(T k)�

�
������� ���� e 	�2���	
�� �� ����������	�� �� ����
�� �� ��
� �������
/������ �� �� ������ " ����
�� ��� 
���
�� ������� �� ���������
� e∗e �����
2�	�� ����� ��9�	 �� �
�	����� H2(N) �� �� ����� L2 4

-��� �	
 %� ������ ε(n, a, λ0,1(N,h), λ1,1(N,h)) > 0 �� c(n, a, λ0,1(N,h)) >
0 ��� ��� ���	 ����� 1�
�	�� ϕ ��	 M T k�����	����� �� �	�.�'����� �
Ker ∆1(M,g)� �� �� �������� �� 5�����'. �� ϕ ��	��� R(ϕ) < ε� ���	� �� ������
��� 
�	�� ω ������� ��	 �� ������� �� G∗ ����� ��� ‖e(ω)‖2 ≤ c · ε‖ω‖2 

 
����������� ! ��	� ϕ 
�� 1������ �	������	���� T k�	�
��	���� �� M �
�� ��
� ����� ���� �� ����	�� ���������� ���	�� ϕ ��
� �� �����

ϕ = π∗(α) +
k∑

i=1

π∗(ai) · ωi, $H�A+

�� α ��� 
�� 1������ �� N  ai ��� �����	��� �� N �� ωi ��� 1������� 
���	�����
	��
	��� ��� 
�� ���� ���0������� �� G∗� �� � ����� 4

dϕ = π∗(dα +
k∑

i=1

ai · ei) +
k∑

i=1

dπ∗(ai) ∧ ωi, $H�@+

�� ei ���	��� ��	���� �� ωi ��� ������	���	�� e : G∗ → H2(N)� �� � 

 ��
��
� ���� �� ����������	�� �
 ��	� ;�5> �
� ϕ 
��	9�

δϕ = π∗(δα), $H�;+

�� �
� �� ��	� �
� e ��	� 	�2���	� 	���	�
� �
� ��� 1������� 0�����	�
�� �� M
���� ���������� ��� ����
�� ��� 1������� 0�����	�
�� �� N �

�
������� �
� ϕ ��� �� ����� 1 ������"��	�� �
� ‖α‖2 +
∑k

i=1 ‖ai‖2 = 1 
�� �
����� ��� ���0������� �
� ������ 0�����	�
�� �� M � �� �
��	��� ��
#�!��	�0 �� ϕ �����	� �����

R(ϕ) = ‖δα‖2 + ‖dα +
k∑

i=1

ai · ei‖2 +
k∑

i=1

‖dπ∗(ai)‖2. $H�H+

>H



�
������� �
� R(ϕ) < ε ��
� 
� ε > 0 ������ �� � �� ����	�
�	�� ‖dα +∑k
i=1 ai · ei‖2 < ε� :�
� ��
� i ������ āi �� 
���
� ��!���� �� �� �����	��

ai� �� ��
� ����� ���	��

‖dα +
k∑

i=1

āi · ei +
k∑

i=1

(ai − āi) · ei‖2 < ε. $H�8+

��	�����	�� ��	���
��	�� ��
� ����� ����� 4

‖dα +
k∑

i=1

āi · ei‖ < ‖
k∑

i=1

(ai − āi) · ei‖ +
√

ε. $H�'+

,���� ��� �����	��� (ai− āi) ���� �� ��!����� �
���� ��
� �
��	��� �� #�!�

��	�0 ��� �
���	�
� " λ0,1(N,h) �� ���� ‖ai− āi‖2 ≤ ‖dai‖2

λ0,1(N,h) ≤ ε
λ0,1(N,h) � :��

�	���
�� �� ����� ������ dα ��� ���0������� " �� ����� 0�����	�
�
∑k

i=1 āi·ei�
�� � ���� 9��������

‖
k∑

i=1

āi · ei‖2 ≤ ‖dα +
k∑

i=1

āi · ei‖2

≤ (‖
k∑

i=1

(ai − āi) · ei‖ +
√

ε)2

≤ (
k∑

i=1

(‖ai − āi‖ · ‖ei‖∞) +
√

ε)2

≤ ε

(
1 +

∑k
i=1 ‖ei‖∞√
λ0,1(N,h)

)2

. $H�-+

�� ����� A�' ������ �������	� 
�� ��2����	�� �� ‖∑k
i=1 āi ·ei‖2 �� �����	��

�� n λ0,1(N,h) �� ��
�� ����� �
� �� ��
��
�� �� (M,g)�
:�
� ��
� i �� �����	�� ai − āi ��� ���0������� " āi ����

‖α‖2 +
k∑

i=1

(‖āi‖2 + ‖ai − āi‖2) = 1. $H�5(+

/�
�� ���� �� � ��2" 

 �
� �0��
� ����� ‖ai−āi‖2 ��� ��2��� ��� ε
λ0,1(N,h) �

/��
��� ���� ����� ϕ ��� ���0������� �
� ����
�� ��� ������ 0�����	�
��
�� (N,h) α ��� ������.�� ���0������� �
� ������ 0�����	�
�� �� N � ��
��
� ���� ���	��

‖α‖2 ≤ 1
λ1,1(N,h)

(‖dα‖2 + ‖δα‖2). $H�55+

>8



�� ����� ‖δα‖2 ��� ��2��� ��� R(ϕ) ���� ��� ε �� ‖dα‖2 ��� ��2��� ��
�����	�� �� a n �� λ0,1(N,h) ����� ���� ��	�����	�� H�-� Q� ����
�� ���� ��
����
��	�� $H�5(+ 4

k∑
i=1

‖āi‖2 ≥ 1 − τ(n, a, λ0,1(N,h), λ1,1(N,h))ε. $H�5>+

�	 �� ����� ��
� ω �� 1������
∑k

i=1 āiωi �� �

‖e(ω)‖2

‖ω‖2
=

‖∑k
i=1 āi · ei‖2∑k
i=1 ‖āi‖2

$H�5A+

����� $H�5>+ �� �����	����
� ��� �
���	�
� " 1
2 �	 ε ��� �
C������� ���	�� ��

��2����	�� �
 �
������
� ��
��	� ��� $H�-+ ����� ����� �� ���
���� ��
0�	���

�� 
� ��	������� �	����� �� ������� �� e∗e �� �����	�� �
 
��
�� �� ��
9��� T k�

-��� �	�� %� ������ ��� ��������� c(n, a, (N,h)) > 0 ����� ��� �� �	����	�
�����	 �	��	� �� e∗e ���� ����	�� ��	 c · Vol(T k)2 

 
����������� ! ��	��� λ1, · · · , λk ��� 
���
�� ������� �� e∗e ��������
���� ������� ���	������ ,���� e ��� 	�2���	
� ��� 
���
�� ������� ���� ���
�
���� �� �� ����	��� 
��	9�

λ1 =
∏

i λi∏
i�=1 λi

=
Det(e∗e)∏

i�=1 λi
. $H�5;+

:�� �	���
�� ��� 
���
�� ������� �� e∗e 
��	9��� λi ≤ ‖e∗e‖ ����

λ1 ≥ Det(e∗e)
‖e∗e‖k−1

≥ Det(e∗e)
‖e‖2k−2

. $H�5H+

��	���� �� e ��� 
� ��
�������� �� Ker ∆2(N) �� �	����	�� k ��������
��� 
� ��
�������
 �
 �����
 ��� ������ 0�����	�
�� ���	���� �� N � �	 ��
������	�� e �� e∗ " �� ��
�������� �� ��
� ���	�� Det(e∗e) = (Det e)2 �� Det e
��� �� ������	���� ��
�� ����	�� �� e ���	�� ���� ��� ����� ���0�������� ��
G∗ �� Im e �� �
	 �����

λ1 ≥ (Det e)2

‖e‖2k−2
. $H�58+

�� ����� A�' ����� 
�� ��2����	�� �� ‖e‖ �� �����	�� �� n �� �� �� �����
a �
� �� ��
��
�� �� M  	� �� ����� ���� �
�" �	����� Det e� ?����� Det′ e ��
������	���� �� �� ����	�� �� e ���� �� ���� �����	�
� �� G∗ = R

k∗ �� 
��
���� ���0������� �� Im e� �� � ����� Det e = (Det′ e)(Vol T k)� ,���� ���
	����� ���� Ker ∆2(N) ��� �������� �� �� ���� �����	�
� �� G∗ ���� ���

>'



������ ���	���� �� ������	���� Det′ e �
	 ��� �
��	 �� 
��
�� �� e([0, 1]k) 
��� 
� �
��	��� �
 
��
�� ��
� ����	�� ����������� �
 �����
 ��� ������
���	���� ���� Im e� ,���� ��� �	���
�� Det′ e ��� ��� �
� 	� ���� ���� �	����
��� �� 
��
�� �� �� ����	�� ������������ �	 �� ���� ρ �� �	�	�
� ���
������ ��� 2������� 0�����	�
�� ���	���� ��� �
���� �� 
��
�� ��� �	����
��� �� 
��
�� ��
�� ��
�� �� ��!�� ρ

2 ���� Im e �� ���� �	���� ��� 
��
��������� �� ��������� �
� �� n �� �� �� ����	�
� h �� N � �� ��
� ����
�	�� ���	��

λ1 ≥ c(n, a, (N,h)) · Vol(T k)2.

?�
� ������ ��	������� �
������ �
� e ����� ��� 	�2���	
�� ?����� l ��
�	����	�� �� ��� ��!�
� �� ����	�� ������ �� ����	 �� M ��� ����� b1(N)+
l� B� ���� �� � 

 �
� �	 
�� 1������ ϕ = π∗(α) +

∑k
i=1 π∗(ai) · ωi ���

0�����	�
� ���� �	��	9� ������� $H�@+ �� $H�;+ 4

∆α = 0,dai = 0 ��
� ��
� i ��
k∑

i=1

ai · ei = 0. $H�5'+

,���� ��� �����	��� ai ���� ����������� ���������� ��� ai ���� �
�
∑k

i=1 ai ·
ei = 0 ��� ���������� �� ��!�
 �� e� �������� ��� ������ 0�����	�
�� �� M
��� ���� �������� �������� ��� ��� ����
�� ��� ������ 0�����	�
�� �� N ��
��� ������ 
���	����� 	��
	��� ��� ��� �������� �� ��!�
 �� e�

�� ��
� ��������� �� ����������	�� ���������� �� ������� ��
� (ωi)i

�� ���� �� G∗ ����� �
� ωk−l+1, · · · , ωk ��	� 
�� ���� �� Ker e $�� ��	� �
� ��
����� ϕ ��� ���0������� �
� ������ 0�����	�
�� �� ����
	� ��� �� ��	� �
�
ak−l+1, · · · , ak = 0+ �� �� ��
�	��� e∗e ������	�� " �����0������ �� Ker e� ��
���	��� �� �� �.�� ��T�� �� ���
���� �
 ��	� H�> " ��
�	� �
� �� ����	���

���
� ������ �
 ������	�� �
� M ��� �	����� " 
�� ��������� �
��	��	���	
�
���� ��� �� ����	��� 
���
� ������ �� (e∗e)|(Ker e)⊥ �

:�
� �	����� �� ������� �� (e∗e)|(Ker e)⊥  �� ��	� .��� 
� ��
 ��
� ������	�
���� �� ���	�
���	�� ��� ����� �� G∗�

��	� B = (ω1, · · · , ωk) 
�� ���� ���0������� �� G∗ �� B′ = (ω′
1, · · · , ω′

k)

�� ���� �
 �����
 ��� ���	��� �� G∗ ������ �
� (ω1, · · · , ωl) �� (ω′

1, · · · , ω′
l)

��	��� ��� ����� �� Ker e $����� ��	���� �
 �����
 ��� ���	��� �� G∗ ���
������
� ���� 
� �����
 �� ��!�
 �� e ��� �����	
����� �������� ��� ���
�������� ���	���+� �� ����	�� �� ������� �� B " B′ ��� �� �� �����

P =
(

P1 P2

0 P3

)
,

�� P1 ��� 
� ���� ����� �� ��	��� l� �	 �� ����� 
�� ���� ���0������� �� Im e 
�� ����	�� �� e �����	� ��
� �� ����� (0, A) ���� �� ���� B �� (0, A′) ���� ��
���� B′ �� A �� A′ ���� ��� ����� ������ �� ��	��� k− l �� 
��	9��� A′ = AP3�

>-



�� ������� �� (e∗e)|(Ker e)⊥ ��� ���
	 �� A∗A� �� ��
� ���	�� ����� ����
�� ����������	�� �
 ��	� H�5@ 4

λ1 ≥ Det A∗A
‖A∗A‖k−l−1

≥ (Det A)2

‖A‖2(k−l−1)
, $H�5-+

�� λ1 ��� �� ����	��� 
���
� ������ ��� �
��� �� e∗e� /� ��
� �� � Det A′ =
Det A · Det P2 �� ����

Det A =
Det A′

Det P3
= Det A′Det P1

Det P
. $H�>(+

�� ������	���� �� A′ ��� ����� ������������ �	���� ��� �� ��
��
�� �

�����
 ��� ������ ���	���� ���� Im e �� Det P ��	��������� �������	�
�����
����� ��	�
���� �
 
��
�� �� T k�

Q� ����� " �	����� Det P1� ,���� Ker e ��� �������� ��� ��� �������� ���
�	��� �� G∗ �����0������ �� Ker e ��
� �� �
��	�� ��9�	� 
� ��
������ T k−l ��
T k� /� ��
� �� �
�� �� �� ��������� �� �	� G(T k/T k−l) �
 �
��	��� T k/T k−l

��� 	������0� " Ker e� �� ����	�� P1 ��� ���� �� ����	�� �� ������� ��
��
���� ���0������� �� G∗(T k/T k−l) ���� 
�� ���� �
 �����
 ��� ���	��� ��
G∗(T k/T k−l) �� ��� ������
��� Det P1 ��� ��	�
���� �
 
��
�� �� T k/T k−l

��
� �� ����	�
� �
��	���� �� �	������ �� T k/T k−l ��� ��2��� ��� ε �����
���
	 �� T k �� ��� ������
��� ��� 
��
�� �
��	�

��� �
���
� ���
	�� �����
� 
� ����
 

� 2�����
� ������
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